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1. Passage: A company facing declining market share considered
t'wo options : aggressive price cuts or a niche product
line targeting a specific consumer segment. The CEO,
known for his long-term vision, argued that the price

cuts would only offer temporary relief and erode brand

 value. He emphasized building a loyal customer base
- through unique product offerings and differentiated
service. st e '
'Ques_tion: Based on,the' passage, which of the following is most
likely to be true? ‘ QB i

(a) The company is primarily focused on short-term financial

gains. |
®) The CEO of the compény prioritize
brand loyalty. U
(¢ The compahy’ S _main 'cha_ll
@ The niche product strategy h
~ company. A
(A)' Only (@)
(B). Both (a) and (b)
.(C) Only (b)
(D) Both (c) and (d)

(E) Answer not known

s sustainable growth and

-~

enge 18 a lack of prOduction capacity.

as proved to be successful for the -
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2. Which of folloWing British English words in column A are
ﬁn‘/c'orrectl iredywith the American English words in column B

Column A ColumnB - Am 6T A
1. Courgette -  Eggplant TNPSC GS
I 2. Rocket —  Arugala _ R
3. Aubergine -  Zucchinie Y
4. Fringe - Bangs
(A) 1land?2 < (B) 2and4
*C) 3and4 D) 1land3

(E) Answer not known

3.  In the given pairs, the type of compound Woijd' 18 gi{zen in column A
and the examples are given in column B. Identify the incorrect pairs
of types and their examples. i L '

Cplumn A i Column B
1. Open corn‘po’ur'ld words — snowman
2. Closed compound words ~ — ice cream
- 3. Co-ordinative compoimd words — walkie-talkie
4. Adjective compound words —  blue-eyed
(A) 1and3 +(B) 1and2

(©) 2 and 4 ~ | .(D) 3and4
(E) Answer not known . ‘

4. What figure of speech is the following?
Life is compared to pathless wo._ch[with the word ‘like’.
(A) ’Metgphor ‘ . (B) ’I:ga;soniﬁcation
»(C) Sjmile (D) Hyperbole
(E) Answer not known
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4 Choose the correct choices

Navika Sagar Parikrama was a project to
1. Promote Economical status of women.
.2. Empower women to attain their full potential.

3. Promote reservation of women in the Indian Navy.

4. Promote ocean sailing activities.

. 1 and 2 are correct '
(A) A ok BHm5mer *
TNPSC GS

\B) 2and 4 arecorrect

LiveClasz -

4 are cofreétv ‘ -

(C) 3and_ a ;.qg‘e_a;g
. J W Y

! JE -_"___-_a-’ a &

(D) 2and 3 are correct i ' :

(E) Answer not known

6. Who inspired Arthur Cbﬁan -Db'y‘le,nt'o create'_'th.e'.character “Sherlock

Holmes”? ~

(a) Dr. Watson e
‘(b) Dr. Ain:streé-.,‘ o0 o5 fc
© InspeCtor Ginithy o D R '
d) Jqseph Bell

*) @and© ' (B) (b) only -

€ (and@ (D) @only

(E) Answer not known
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7. Scenario: You are a voluvnFeer for a local charity and nged to know
the specific items the charity currently needed for !
donations. Write an er;lail to the chari‘ty’ s _(%oordir_iato?
: aski.ng‘ for an updated donation list @
_ Type of Q"uery_: ,
~@ Charity Support Inquiry '
(b) | Material Request
© Donafiqg: Item Be_queé_t iy

(d) Volunteer co;ordinatién y

Uﬂmgﬁmﬁ .

LA OO TNPSC GS
(B) Only (c) - » J St - LiveClass
S Y ) BIIG e : :
(C) Only (b)

(D) (@), (M), ()

Sdarty: ) Sepn M5

(E) Answer not known
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8. Identify the sentence. Google Play

“He commented how beautiful the girl was”.
(A) Simple sentence (B) Compound sentence

(C) Complex sentence (D) Interrogative sentence

) Answer not known

The phrase A crown made of gold is
(B) an adjective clause

(A) an adjective phrase
(D) an adverbial clause.

(C) an adverbial phrase

(E) Answer not known

10. The three structures of the positive degree are
as, No other...as...as (B) As...s0, and-so, but...so

() As...as, So-
(C) So...so, So- but, So.. and (D) None of the above

(E) Answer not known

the comparative degree :

11. Choose the sentence with the correct use of

.(a) He is more smarter than any one in the class.

(b)
©

(d) The game is more eesier than expected.

A) (a) |

B) (®)

©) ©
D) ()

(E) Answer not known

This bus is less more crowded than the other.

This sum is less comphcated than the prev10us one.
(d
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12. Passage :

13.

14.

‘Aadhaar’, India’s unique ID has expanded from welfare

‘to-various diverse services. It aimed to reduce fraud and
boost financial inclusion. Concerns about. privacy and

-ex¢lusion persist. Court rulings balance security with
r1ghts ‘

Question : Which of the following statements accurately reflect the
- main ideas presented in the passage about Aadhaar‘?

Select all statements that apply

: (@) Aadhaaris only used for welfare dlstrlbutmn '
‘(b) Aadhaar’s scope has grown beyond it’s initial purpose
2 (c) Aadhaar aimed to reduce fraud and improve financial inclusion

(d) . Privacy and exclusmn concerns are associated with Aadhaar

() (), ©, @ L ® @0, d

(C) (b) and () (D) only(b)
(E) Answer not known . 4

With a sense of optimism slowly creeping in, the banking industry is
‘hopeful that 2025 will bring better growth prospects. This optimism
stems from a number of factors. For one, the Government is working
hard to revitalise the industrial growth in the country. Secondly, the
RBI has initiated a numbers of measures that would go a long way
in helping the banks to restructure themselves thereby 1mprov1ng
the profile of non-performing banks.

What is the biggest challenge for banks in Ind.la"

(A) To handle corporate borrowers

(B) To pursue targets of financial inclusion

- (C) Ever increasing level of non performing assets

(D) Onslaught of foreign banks
(E) Answer not known

Which question type illustrates a point or focuses attentmn on an

" idea or principle?

Choose from the options given below

(A) Rhetorical (B) Funnel
(C) Inference

(D) Divergent
(E) Answer not known '

CCSE2-2AE/2025 8 » 0
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15. p e blanks using the phrasal verbs given in the options :

1. You'd better ring her and tell her you’
9. I invited her to arop ' any timet)is‘}i:(:vl:: . laice.
a cup of tea. 8 e
8 If you can’t afford it, you’ll have to do it.
4. He wop’t buy the car without trying it on the road
first. TR ;
(a) out
®) in
(c) up
(d) w1thout

@) 10 2@ 3-0) @@
®) 1-0b) 2 3@ DD
©) 1+a) 2-© 3-@ D-0)
® 140 2-0) 3O @)

(E) Answér not known

deriotes the following

ot spelling of the word which
: _ Hlgmy

16. Identify the corre

sentence. ‘ _
A class of people in society who are interested mainly in having

money and a higher social position.
(B) Borgieoise
(D) Bourgeosie

more
(A) Bourggiese
(C) Bourgeoisie

(E) Answer not knbwn

1

: 0
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17. Identify the poetic works of ‘Robert Frost’'.

B
K
3.
4.

(A)
©)
(E)

The Road Not Taken
The Jungle Book
Mending\ Wall
Treasure Island

1 only ‘ - (B) 1and 2 only
1 and 3 only (D) 2 and 4 only
Answer not known :

18. Which of the followmg statements do not agree with Gieve Patel’s
- views in the poem “On killing a tree”™?

1.
2.
3.
4.
(A)
©)
(B

Cutting a tree is an act of murder

A simple jab of the knife will cut a tree

Disapproval of mankind is failure to care for the earth
The Etrength of the tree lies on its big brahches
land2 o (B)w2and 4

3and4 ' ‘(D) land 4 .

Answer not known

19. Identify the figure of speech in these lines.

Nk

Faster than a cheetah
With a tail that’s miles long
Bigger than a mountain

So powerful and strong.

~(A)
©)
(E)

CCSE2-2AE/2025

Imagery : (B) Anaphora
Consonance (D) Simile

Answer not known
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90. Passag 1g1tal platforms enhance citizen access to government

~ Question :

(2)
(b)
©
(d)

A)

€
()

91. Passage:

Question : Which of th

@
(b)
(c)
(d)
(A)
©

' (b) and (©)

(b), (a), ()

Se l‘ .

& Thrivme.:s. (.)nhr}e portals reduce bureaucratic delays.
- S ,m?phes increased transparency and efficiency
treamhned processes foster public trust. :

Which of the following can be best inferred from the
passage? ' ’
E-governance increases bureaucratic delays.
E-governance potentially increases transparency.

Streamlined processes can build public trust.

Digital platforms reduce
(a) and (b)

citizen access to services.

® () and @
- © @and@

Answer not known

| Renewa’blé energy reduces carbon emissions. ;. Solar and
easingly viable. This transition

wind power are incr
combats climate change. Sustamable energy solutlonsr

are vital for future generatlons
e following statements best summarlze the

_ main points of the passage? s

3 e
Renewable energy has no impact on climate change.
' C 00 I S5 &

Renewable energy reduces carbon emissions.

Solar and wind power are becoming increasingly viable.
ial for future generations.

Sustainable energy solutions are crucia
(B) (b), (d), (a)

(@), (b), (©) (D) (), ), (d)

(E) Answer not known

o o
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22, The interrogative form of ‘You have to be there on Monday’ will be
"4+ (A) Will you be there.on Monday? B
(B) Would you be there on Monday?
(C) Can you be there on Monday?
(D) Could you be there on Monday?
(E) Answer not known .

23. _Transfbrm the imperative sentence ‘Give me a book’ ‘into an

_ appreciative statement.
’ (a) I'm glad that you have given a book
(b) Thank you for giving a book
(c) Iappreciate you giving a book
(d) Why do you'not give a book?
A (@ . (B) (b)
© (© Epaa M e ()

(E) Answer not kﬁOWn- 2

24. Choose the cpi'reét verb form from the obtio_né given below.

Dogsusually - cats.
(A) chased o

(C) are chasing |

(E) AnsweiT r‘i’lo_t known

. (B) chase
(D) were chasing

\

95. Choose the correct verb form to fill the following statement :
“If she had studied well, she in the examination”.

(B) would passed

. (A) would have passed
(D) would be passed

(C) would pass
(E) Answer not known '

CCSE2-2AE/2025 12
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26 Translate the followmg sentence into Enghsh
prener @m%%ﬁnﬁ@m ;tsrrch @pg Gouamevedws (1plqSd (mLICLG.
i}::;ii et:ii . ;0;':;3;; . translatmn from the optlons given of the
(A) [ will have completed this work by tomorrow.
@B I would have finished this work by tomorrow.
(©) I have completed this work by this time tomorrow.

) I would have completed this work by thlS t1me tomorrow.

(@

(E) Answer not known

97. Sentence : They were be1ng followed when they left the building.

Questmn Wh1ch of the following T
given English Sentence?

amil Sentences best conveys the

meamng of the
() eio.ufrsc‘rr &5L'_lq.l_§a')§—6ﬁlf_® QauefGuPlw  GUTS) Sauisemar e
QamLiipgTisar i s
b) etz slgLses  ALH QauafGumib Guis seuisdr Qe
Qsm_riul §é Qanamiq BESTIEET | '
(c) SleuiTEaT 5&@;5@5 AL @maﬂ(‘émﬁ)lwrrr’ressif,‘ ‘ aqmr'rasanat \Qebr
QsmLibEieeT. | B
d) seuisdr 5L;Lq,|_§eu>§s A @ QauefiCugd Gurg Sjeuirgar e

QBT THSMT&HET.
(A) (a) and (b)
4C) (a)and (d)

(E) Answer not known

(B) only (b)
(D) only (c)

13 | g
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28.  In a legal context, which of the following sentences use‘-th

‘right’ appropriately?

(a)

®) -

©
@
7N
®B)
©)
D)
(E)

Turn rigﬁ‘t at the next intersection
It is your right to remain silent

The answer is right in front of you

GET IT ON
Google Play

He wanted to right the wrong he did to his sister '

(a) and (c)

only (b) .
only (c)
(c)and (d)

Answer not known

29. Which pair 1s an example of homoﬁhon’e‘s? ™%

(A)

(B)
©

G

(D)
(B

Read and Readf

Light an_d dark

Beap and bare

Pretty and beautiful ‘

Answer not known

CCSE2-2AE/2025 14
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30. The meaning of the word ‘Repercussion’ is

repetitio :
(A) p us (B) irreplaceable
(C) an unpleasant effect (D) repellent

1) Answer not known

Which of the following is not included in a memo?

31.
(A) - Subject line (B) Greetinglsélutation
(C) To and from sections D) Signaturé, line
(E) Answer not known
39. Which of the following is a S}litable salutation for a formal letter?
®) Hello . (B) Dear SirMadam
7 ©) Cheers (D) Best regards

(E)‘ Answer not known

33. The Acronym of the term ‘DGTD’ is
(A) Direct General Telecommunication Departmént
(B) District Grant Tax Department |

(C) Digital Government Tele Department

D) Directorate General of Technical Development

(E) Answer not knqwn

b 0
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34.

(b) Steam billows

GET IT ON
Google Play

Passage: The old train chugged along the traqks, 1ts rhythrr_uc
clanking a familiar sound. Steam billowed from its
engine, creating a white cloud against the b!ue sky.
Passengers gazed out the windows, watching the

" landscape roll by. The whistle blew, a long, mournful

| sound. ‘ 4

Question : Match the description of the train journey in Column A
with their meanings in Column B.

Column A | - Column B |

(@) Rhythmic clanting 1 Creates a visual effect
2.  Provides an auditory experience

(c) Passengersgazing @~ 3. Highlights the pace of the train
(d) Mournful whistle, 4.  Indicates observation and travel

@ ® © @

(A). 4 i i

35.

© 2,51 5 g
@D 3 4 B

(E) Answer not known

3
B) 1 2000y 4 3
3
1

Complete the séntence'_ below, choosing the suitable words from the
options given:. | \ ‘ )

He is at the e the organisation.
- (A) ‘Herculean Task (B) High time |
" (C) Hitch hike ' - (D) Helm of affairs’

36.

(E) Answer not known

Complete the sentence given below, choosihg the most appropriate
words from the options given.

, I was born on exactly the same day as my wife.

A) asif , (B) frighteningly

(C) my ‘eye!’ -+ (D) funnily enough
(E) Answer not known

CCSE2-2AE/2025 1 | 0
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Which of the followmg 1s an imperative sentence?

87
() Who are you?
() How did you explain this question?
© Clean your room
(d) What a great statue!
@a) (@ (B) ()
© © D) @
(®) Answer not known |
3. “Let my head be shattered fo pieces’isan

(A) Interrogative sentence ~(B) _Affirmative sentence

AC) Impérative sentence (D) Exclamatory sentence

(E) Answer not known

39. Transform the _f_()llowing' assertive sentence into an ‘imperative

sentence :

You should answer all the questlons

(a) Should you answer all the questlons‘?

(b) Answer all the questions.
() You answer all the questions.
(d All questions should be answered.

@y L
©) (o) o (D) )

(E) Ahswer not known

“CSE2 24 R/2095
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40. Match the words with the suitable pair words.
Column - A ¢ Column - B
(a) Walls 1. . Straggle
(b) Lights 2 Flicker
(c) People - . 3. . Scuttle |
(d)" Pathofavalley = 4.  Crumble
() Insects 5. Huddle

@ D O @ @
A) "8 9 '

2 REGIROD |
B4 g pill
©) 2.3 T ,5" 4
RiySRT s T O

(E) Answer not’iknown

41. Which of the followmg statements are true about the play ‘The
Tempest"’ ; ~

@ . ‘The Tempest’ was written in 1500.

(i) Tt is cons1dered to be one of the last plays of William
Shakespeare ' -

(iii) It is believed that the play ‘The. Tempest was based on an
' - actual wreck of a ship.

(A) (i) only

(B) (i) and (ii) only
{C) (1) and (iii) only
(D) (i) and (iii) only
(E) Answer not known

 CCSE2-2AE/2025 . 18
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.. Find out the best inference based on the passa
. ge :

There were di
India carried ifferent streams of freedom movements i
_ . '
n out by the moderates, liberals, radicals So:'nl‘ciloma;
. ’ 1alists an

- 80 on.
Which of the following is the best inference from the abo
ve

statement?

) The emergence of nationalism in coloni -
. ' al Ind
independence ; ia led to our

(B) ‘Nationalism in India emer

©) Nationalism in India is homogenous
ndia is heterogenous

ged in the context of colonialism

D) Nationalism 1n I
E Answer not known

n the blanks : &
1. ‘'The manager Was knoWn for his positii;e approach to decision-
making, which often led to __ o -4 result. :

43. Choose the correct code to fill 1

The Chef’s dish were not only in ta_ste but also

elaborate 1n presentation. , 2
ch was so _ that it left the

3. The Chief Guest’s spee
audience motivated.

cision . was ba

de the outcome

4. The Student’s de sed on the
evidence, which ma of the project predictable.
site, excellent, inspiring
inspiring, conclusive

i
nclusive

(A) conclusive, exqui
(B) exquisite, excellent,
(C) excellent, exquisite, inspiring, c0
(D) inspiring, conclusive, excellent, exquisite

(E) Answer not known .

19
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(A)
(B)

(©)
(D)
(E)

(@A)

(B)
. #%(C)
B (D)
- ®

A committee formed for a specific pur

45. The word “Agenda” refers to

GET IT ON
Google Play

. » . ¢ ’ : f)
44. Which of the following clearly describes an .adhoc‘ qommlttee

A committee that meets regularly ,

pose and dissbived after
that purpose is achieved = |

A committee with a permanent layout ’

A committee that ovefseeé all Organisational ai;tivities

Answer not known

A type of clothing

A form of e‘nterta-inm'en‘.t‘ e

A list 6f itéms to be discusgsed . e
A scientific theory :

Answer not known

46. The Tamil Nadu Physical Education and Sports University

(TNPESU) began to function in

, to promote sports and

culture, harnessing talent at the grass root level,

2015

*) (B) 2007
(0)-- 2005 | @) 2010
(E) Answer not known |
CCSE2-2AE/2025 g 20 0



A

dda247) g

|
‘ i Google Play

4. Accordlng to Dr. Montague, “Women are not onl
R sl 1 only equal in intelligence
: rve the genius of humaness, the hi
ghest
form of intelligence. Man, proceeds by analysis to study a problem,
Whereas women can even grasp it intuitively in its entirety”.

What does the above passage imply?
) lEquality in India

B) Role of women in India

(€) Innate Intelligence of women

(D) About Dr. Montague

(E) Answer not known

The school’s annual smence fa1r showcased student

48, Passage:
_projects, many experiments focussed on environmental
issues. The judges awarded prizes based on creativity
and scientific accuracy W
Question : ‘Based on the passage wh1ch of the following are true?

(a) The science fair only dlsplayed art prOJects ‘

(b)—The science fair 1nc1uded experlments about the env1ronment

(¢ The judges focused on students fashion sense.

(d The science fair is held every two years.
(A) Only ’(a) »
~ ®) Only ()
(C) Only (c)
D) Only (d)
(E) Answer not known
0

Cc _.
SE2-2AR/2025 21 .0 3 ‘
‘ . [Turn over



|
- | ‘
oogle Play

49. Select the correct parts of speech for the underlined word. -

He makes rather a fuss ;albout ordinary things
(A) Adjective

(B) Adverb |

(C) Noun

D) Con‘junctionf

(E) Answer notf known

50. Select the corrept meaningful sentence from 'ghé following :
(A) The wages of sin are death
(B) His wages is Rs. 1,000 a day _
(C) Measles are a disease ’
D) Politics has divided the cduntryh(
(E) Answer not knoWn‘ i

51. Fill in the blanks with the correct form of the verb.

' , : -
P “ She _ (is) tired because she (clean) the ho
| yesterday.

(A) 1is, had been cleaning

Rt

(B)  was, have been cleaning
(C) was, had been cleanin‘g/
(D) is, has been cleaning

(E) Answer not known '

CCSE2-2AE/2025 22
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9. Fill in the blanks using the correct words given in the optio
ns.

Children like ;

: to . crispy snacks. But the author i
seventeen oranges was very fond of t o
Eventually, he was forced to 2 all the e

including _

1. eating |

swallow

pips

2
3.  munch
4
5. chunks

®) 23154

@) 21453
_(D) 31254

(C) 13245
(E) Answer not known

53, Which of the following statements are true about Jawaharlal

Nehru?
@ He wrote the book “Glimpses of Indian History”.

(ii” He was the First Prime Minister of India.

(i) He ié considered to be the architect of the modern Indian

Nation-state.

(A) (i) only

P (i) and (i) only
) (i) and (ii) only
D) (i) and (iii) only

(E) Answer not known

23 )
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54 Arrange the jumbled statements 1n Jogical form and choose thg

sorrect order. : tistic expression
(@) This shift has challenged for the n}otlf of sil{r is i b : 3
(®) Contemporary art is primarily acknow .
interdisciplinary nature. | . ok
(c) Apparently, the boundaries between different artistj;

connections are merged for good.. o .
(d) As a result, artists are now exploring new forms of creative

collaboration. _ ,
(A) (), (@), (a), © XB) (a), (0), (b), (d)

©€) @, ®), (©, (@) D) (0), (@), (d), (b)
(E) Answer not known :

55. In the following sentence ordering, the first (S1) and sixth (S6)
sentences of a passage are already provided. The middle four
sentences are shuffled up; they are labelled P Q R & S_.‘Rearrange
these four sentences and choose the correct order.

S1: The study of intellectual history provides significant insights
into the development of human history.

P: This however, underétands the historical context in which
these ideas emerged. | ‘

Q: Intellc?ctual history often involves understanding the evolution
of main concepts and their impact on the society.

R: Conseqt.lently interpretations of these concepts can widely vary
depending on the researchers’ perspective |
S: Moreover, these concepts are fre

; quently revisited and
reinterpreted over the period. '

S6 : Essentially,

! it seeks to enhance the complex intersectio?
between ide

as and their socio-cultural milieu.

(A) A1,8,Q, P, R, S6 “(B) S1,Q,S,R, P, S6

(C) SL,R,P,Q,S, S6 (D) S1,P, S, Q, R, S6
(E) Answer not known

CCSE2-2AE/2025 24 | q
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6. Wh ollowing is the best synthesis of the two sentences

using a cause-effect relationship?
Sgntence 1 — The company decreased its product prices

Gentence 2 — Sales increased gradually.

@ /The company decreased its product prices, which caused sales
to increase gradually.

@) The company decreased its product prices, so sales increased
gradually.

¢) The company decreased its product prices and sales increased
gradually. 1

d) Sales increased gradually as a result of the company

decreasing its product prices. |
(B) (b)

A) (@)
D) (d)

€ ©

(E) Answer not known

57. form?

Which includes an apostrophe indicating the possessive
(a). Our child’s busy |

() Mr. X’s new bag is feady
() Mrs. X’s got her bag

(d The child’s slept

A (a)

© (o)

(E) Answer not known

~(B) ()
(D) @

25 | ¢
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8. Frame a question to get the following answer :
58. .

2
Why g

He has gohé to the railway station to see off his cousin.

(A) Why has he gone to the railway statiqn?
A(B) Why he went to the railway station?
(C) Why he go to the railway station?

(D) Why have he gone to the railway station?
(E) Answer not knowr} '

Yy

59. Passage: A rural community lacked access to re}iable internet an(
digital devicés._ Local ‘st:h(\)(‘)ls struggled to Integrate

technology into their curriculum and smal] businesses

found it difficult tq compe

Community leaders proplosed

center, but residents feared

surveillance and data misuse

te with online retailers,

setting up a shared digital
the potential for increased

Question : Based on the bassage,

‘which of the following statements
are most likely true? |

/J (a) The digital divide is Primarily an urban phenomenon.
(b) The community is ex

periencing both economic and educational
disadvantagesg.

£©)

}d) Concerns about Privacy are hindering efforts to bridge the
digital divide. ’ -

* (A) Both (b) and (d)~
«(C) Both (a) and (d) —

(E) Answer not known

(B) Both (a) and (b)
ug)) Both (b) and ()

CCSE2-2AE/2025 | 26
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. Fill in the blank with the suitable word :

«The pupil was asked to the mistake”.
(A) correct ~ (B) condone
(C) clarify - - (D) rectify

(E) Answer not known

Choose one word to substitute “Creature having both male and

61. ‘
female organ’. |
(A) Omnigenous iy (B) Queer
(C) Uxorious ' | " (D) Hermaphrodite

(E) Answer not known

62. Choose the correct answer by word creation -
What is the negative c‘a;1Se of c‘onrsist.ent?‘
What is the negative case of emba’rl\{“? i
1B) in.consistent, disembark

(A) unconsistent, inembark
(D) disconsistent, nonembark

(C) - inconsistent, unembark

(E) Answer not known

63. Expand the term IPCC.

(4) International Pollution Control Council
(B) International Panel of Climate Control
{C) Interim Panel of Climate Change

Q) Intergovernmental Panel on Climate Change

() Answer not known

0
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64. Choose the correct ‘syngllyms’ by matching column ‘A’ and ‘B’,

Column - A Column - B

(@) Mourn 1. Pinnacle :

(b) Veil _ 2 Search

(© Crown 3. Anguish

(d Quest 4. Conceal
@ ® @ @

A1 2 34

)8 4L

©:2 .8 4}

D) 4 BT 3

- (E) Answer not known

65. Choose the right answer among these :

Which are the following statements are true according to Nada
Bush?

1. The house seems to be alive -at day.

2.  The poet Waé often tempted to go inside the house.
3.  Besides the house, there was a tree.
4

The tree is growing faster.

(4) . Lonly (B) 2 and 3 only
(C) 3 and 4 only . ~ (D) 1 and 3 only
(E) Answer not known

28
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6. Passage.: Reforestation projects restoré degraded ecosystems.

They increase biodiversity and improve air quality.
They also enhance water retention. These efforts
support long-term environmental sustainability.

Question : Which of the following statements best support the

@
(b)
©
C)
N
©)

i

67. Which of the following statements are NOT characteristic of a

claim that reforestation is beneficial?
Refores.t‘atio'n projects decrease biodiversity.
Reforeétation p'_rojectsvrestore degraded ecosystems.
Reforestation projects improve air quality.

b

Reforestation projects enhance water retention.

®@Ox B 0,06
®.0.@ =D @06,

Answer not known

formal letter?

()
(b)
“(c)
(d)
‘(4)
(B)
(€
(D)
(E)

C(}S
I‘:2'2AE/2025 " o [Turn over

Use of professional language.

Clear and understéndable structure.
Use of slang or unprofessional expressions.
Convey official information

(a)
(b)

(c)

(d)

Answer not known

0

GETITON |
Google Play |\

B



CEEE s O
| }
s ﬁnitive?

68.  Which one of the following has a correct 11
(@) She is bold enough to take decisions”
(b) She is bold enough in acceptlng challengeS
(C) She is bold but afraid of snakes
(d) She is bold enough to taking decisions
A) (a) : . B) ®)
© © D@
(E) Answer not known

69. Choose the correct answer for the underhned words.

I heard of his havmg gamed a prize.

(A) Gerund | .(B) Compound Gerund
(C) Infinitive 3 i (D) Participle
(E) Answer not ol ' |
1 |

'/'] 70. Identlfy the participle in the g1ven sentence : .
“The barking dog kept the ne1ghbours awake all night”.
(A) barking - ; (B) tHe
(€) kept | (D) awake

(E) Answer not known

~71. Choose the correct question tag for the sentence glven below.
Let’s all go to the beach thls evening,
(A) dowe? '
*(C) shall we?
(E) Answer not known

. (B) don’t we?
(D) aren’t we?

CCSE2-2AE/2025 30
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passage (72-74) :

1 )
E-seval centers’, a corpe Bk &

What is?the pr.imary function of e-sevaj centers as mentioned in the
passage

(a) to provide free internet access to rural population
AB) to facilitate online delivery of essential government services

(C) to train government employees in digital literacy

(D) to manage state-level databases

E) Answer.not known

7.

n The passage implies that the long-term sus.tainability of e-seval
primarily relies on; ,
(4) increasing the number of physical e-sevai centers

(B) focussing solely on urban areas
/) bridging the digital divide ‘and maintaining a robust

infrastructure
D) reducing the number of available online services

(E) Answer not known

! Inthe context of the passage ‘streamline’ means;
4) Complicate AB) Simplify
(D) Increase cost

(C) Delay 4
B Answer not known

¢

E
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75. Scenario :

Question :

GET IT ON
Google Play

You are a newly appointed Civil Servant in the

Department of climate change.

You are asked to communicate the departmenty

initiatives to the public.

Which of the following collocations would be most effective in yoy,
communication strategy? '

(a)
(b)
(c)
(d)
A)
©)
(E)

76.
1.
2.
3.
4.
. (A)
(©)

to spread climate misinformation

to raise public awareness about chmate change 1mpacts

to minimjze the urgency of cllmate actlon

to engage in stakeholder consultatlons

(a) and (c)
(b) and (c) .

Answer not known

To brow beat A
To be at large TR
To knit the brow -

To pass the buck —

1 and 3
1 and 2

(E) Answer not known

CCSE2-2AE/2025

-(B) ® and @
(D) () and (d)

Identify the incorrect pairs of Idioms and phrases in the given pairs.

‘bully

to Blamé each other

to frown

free

B) 2and4
(D) 3and 4

32 | _ ¢
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71 Which of the following phrases can be quoted as an example for
sound images from the poem “Sea Fever”?

1. Wheels kick

9. Seagullscry -

3, - Clouds flying

4. Running tide~ \

b. Séils shaking £

6. Wind’s song ¥/

o Lzand st e e e i
©. 2,4a0d6 | (D) 3,4and5

(E) Answer not known

8. Choose the correct ‘Synonym’ by matching column ‘A’ and ‘B’
Column - A ' Column -B

(a) v'Champing : Confusing
(b) Perplexing Listening, heading
(©) Thronging : Munching, chewing

S R

(d) Hearkening Crowding
@ ® © @
Ao R B G
B2 3 1 4
0) 177 g g Yy
D) 4 g ey
(E? Answer not known
Co
SE2.2AE12025 33 (p
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80.

S R
GET IT ON
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Passage : Crypto currencies and traditional stocks both involy,

cies are highly VOlatlle
investment. Crypto curren
stocks are relatively stable. Both are susceptible ¢,
market fluctuations, albelt dlfferently

Question:  Which of the following statements gccurately compare,
crypto currencies and stocks as described in tp,
passage? |

(a) Crypto currencies and stocks involve no investment

(b))~ Crypto currencies and stocks both involve investment

() Crypto currencies and stocks both immune  to market

fluctuations

(@ - Crypto currencies and stocks react. d1ft‘erent1y to market
ﬂuctuatlons ot

Ay"(b)and(d) gl (B) (a) and (Q)

(©) (d) and (a) (D) (d)and(©)

(E) Answer not known T

Passage: First, water is heated. Then it boﬂs Next steam 1s
produced. Finally, the steam cools and condenses

Question : Which of the followmg statements accurately describes
the sequence of events in the passage"
(a) y Steam is produced before the water boils.

(b)” Water is heated before it boils.
(¢)” Steam cools and condenses after it ig prodnced.
(d) The process starts with the cool'ing and condensing of steam.

(A) (a) and (d) (B) (d) and (b)

(C) (c)and (a) ! «(D) (b) and (c).
(E) Answer not known

CCSE2-2AE/2025 B¢ 0
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o1, ‘Igﬂl_e not changing her dress’.
' Which Of the following iﬁhe correct statement of this interrogative?
(A) She will not change her dress |
(B) She was not changing her dress
(C) She will change her dress
(D) She is not changing her dress
(E) Answer not known

8. Transform the following sentence into a negative sentence.

“He is too shrewd to be cheated”
(a) He is not shrewd enbugh to be cheated
(b) Heisso shrewd that he cannot be cheated
(c) Heis not too shrewd to be cheated

(@ He is shrewd 4 L
@ @ G g WEh (b)
© © e o e

‘ (E) Answer not khow‘n i

8. Convert the exclamatdry sentence :
‘ “Had she known it earlier” into an assertive sentence.
(2) She knew it earlier |
(b) I wish she had known it earlier

() Knowing this earlier is beneficial

r(d)  She should have known it earlier
® () e B) ®
© ( D) ()
®  Answer not known
CCSE2-2AE/2()25 A | i .

[Turn over



Adda7 - iy

84. Translate :
upercuser LpsSeTpaert

‘Choose the correct English translation from the options which begt

conveys the meaning of the given sehtence.
(A) " The birds are flying-

(B) Birds fly

(C) The birds were ﬂying

(D) The birds will fly |

(E) Answer not knoWn 5 |

85. Whatis word for word translation called?

(A) Literary translation’

i B) L1tera1 {;ranslation _‘
(C) Administrative translation - D) Machine translatibn
1‘ % € Answer not known ‘ AR

-(A) Don’t induce me
(B) Don’t indulge me
(C) Don’t talk to me

(D) Don’t make me do what I don’t want to
(E) Answer not known

CCSE2-2AE/2025 Wt | 0
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7. A famous celebrity wants to experience a normal day without being
recogmzed visited a local bookstore.

Which of the following best describes their state?
(A) Ubiquitous (B) Ostentatious
(0 Incognito ' (D) Gregarious
(E) Answer not known '

gg. Choose the correct “Synonym” for the underlined word.

~ «Chuck is mendacious about his vegetarianism”.

(A) Untruthful ~ «(B) Proud
(©) Unhappy (D) Clear
~(E) Answer n‘otknown_r ' ' |

89. Choose the antonyms of the follbwing underlined words.
The driver known for his cautiousness was surprised by the road
traffic. As his talent was innate, he had to drive slowly.
(@ Gloomy, active : |
(b) Dim, retain
(© Recklessness, acquired
(d) Subtle, intolerant
@ @ vk () (e
© (a) D) (b)
(E) Answer not known
Co : (D
SE2-2A%/2025 iy
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‘ iness?
90.  What is a potential benefit of ‘future proofing’ a busine

(A)
(B)
£C)
(D)
(E)

Increased short term profits
Reduced need for innovation
Enhanced resiliation to market changes

Decreased consumer satisfaction

Answer not known

f

91. is a prolonged talking by a senator or senators for the
purpose of delay, in the hope of forcing the niajority to give up the
proposal being debated. '

(A) Election (B) Caucus
(©) Fﬂibuster (D) Ratification
(E) Answer not known

92. The term ‘Matronymic’ meang
~(A) A name from the name of a mofher
(B) Patronymic |
(C) A name after famous personalitieg
(D) Maiden name

(E) Answer not known
CCSE2-2AE/2025 a8
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3. Passage -

Question :

GET IT ON

Google Play

The Tamil Nadu climate change mission focusses on
mitigating the impact of climate change through various
initiatives. Reforestation projects aim to increase carbon
sinks and restore biodiversity. Coastal zone Management
plans protect vulnerable shorelines from rising sea-levels.
Promotion of renewable energy sources, like solar and
wind power, reduce dependence on fossil fuels.
Community-based adaptation programs build resilience in
local populations facing climate - related challenges.

Match the initiatives of the Tamil Nadu climate change
mission in _Column A with their expected outcomes in

Column B.

ColumhA Spaog Column B

(a) Reforestation projects = 1.  Reduces reliance on fossil fuels

(b) Coastal Zone

() Promotion of ren;:%ka .3.

Managemeni; pla

Enhances local resilience to

climate impact

Increases. carbon absorption and

energy ‘ \ ‘biodiversity
(d) Community-based 4.  Protects shorelines from rising
adaptation programs sea levels
@ ® @© @
4) 2 4 1 3
B 1ing 2 3
0 8.0 145 14802
7 M
D) 4 3 1 2 r

(E) Answer not known

0
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94. Select the correct Passive forms of the sentence :
“The Manager will give you a ticket”. ;
@) A ticket will be given to the Manager by you.
(b) A ticket will be given te you by the Manager.

(¢)  The Manager will be given a ticket by you. ol

(d You will be glven a tlcket by the Manager
(A) (a)and (b)

L0 ()and (@) i .
(E) Answer not k_nown' A

| (B) () and (C) _

95, Match the followmg W1th correct type of sentence

Column ColumnA Column B
| This pen is blue , | _Intemgatwe
(b) Please helpme i Ef(clamatory el

(¢) How aré you?

Declarative
(d) How well she dances!" IrnperatiVe
@ ® (o (d)
A 3 2. sl 4
(B) R 3 i1
039t L 2
(D) 4 'ﬂéh i 2 . 1 y

(E) Answer not known

CCSE2-2AE/2025 40
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" Identify the incorrect sentence/sentences, according to the given

statement. '

Alfred Nobel was considered as —

1. Europe’s richest Vagabond.

2. A chemist, engineer and an aspiring poet.

3. A man who felt guilty for having invented highly destructive

things.
4.  Felt guilty for heving‘ earned so much money.

(A) 3and4 (B) 1and3
(©) 4only (D) 2only

(E) Answer not known

97. Identlfy the Incorrect Statements

1. Mithali Dorai Raj 1s the first to score seven consecutive

: centurles |
% The mother tongue of M1tha11 is Talﬁll’a
3. Mithali is honoured with Padma Bhushan award. -

4, Mithali is nicknamed as “Tendulkar of Indian Women’s
Cricket”.

5.  Mithali is not encouraged to play cricket by her family

members.

AX) 1, 2 and 5 are incorrect 4(B) 1,3and5 are incorrect

©) _2, 4 and 5 are incorrect

(E)  Answer not known

incorrect
(D) 2,3, 4are

0
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98.  Find out the answer and fill up the blank :

You want to see him? . »
(A) Beyond all question
@ Over head and ears
(C) Out of the question!
(D) The ins and outs

(E) AnsWer not known

99. “Will you tell me who is .there?f_" is an exampie for 7
(A) Direct question '
(B). Indirect que-s_ti._or'l '
(©) Exclamation
(D) ' Basic formation

(E) Answer not known

100. Fill out the suitabl'_e inference :

She read the message and sighed,v, hinting at her

(A) achievement
{B) prdud moment
(C) . disappointment
(D) excitement

(E) Answer not known
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UGS -2 — Qurgs S0P
Part-A - General Tamil
Aernéser : 1-100 |

Questions :1-100

Qurss wHLUGUaTEEr : 150
Total Marks: 150

1.  Qummsss
Sllg BeugLD
() 506 1. Ceuby
(b) & 2. epradld
(©) seyp 3. Geameribs
d) <ig 4. &by
® ® © @
4 3 4 2 1
B) 3 2 4 1
C) 4 3 1 2
D) 2 3 = 4 1
(E) e Gsflweldena
9. wreerler @6 wrMLS s Dls.
(A)  Sieuybd (B) Gefigid
(C) erssmemiGbd (D) ssmwb
(E) oleL Ogfueidvme -
3. ‘wrafler Ogrers wiLE QsTd®SE S5,
(A) whos (B). fleooy
(C) samtid (D) salLbd
(E) o9er QsfRwelldvanad
CCSE2-2AT/2025 | 3 \Y,
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4. QunEpsns Qerdmas sam_s ;

(A)  Qappr e A
D &\ (5 561T
B) =ppri TNPSC GS
(C)  mairewrmi LiveClass | .
(D)- SRGITGUTITIT
(E) afleor Qsfiuefaena Starts: 30 Sep, 2025
5. Ssrafiesiiug Qemhsmar o@mnss -

(A)  smayeb, 5m§§JGL§®, saulflone, saibyss
(B) 5mﬂmn¢., aa@@ia)leb, F1Eg G0, s@byFs:
(C). smayen, sabyss, saflord, samssGo
(D) sebyss, a;eyrﬂmrrebr, &(H@L,60 LD, smgg‘]('ém(b\

(E) efer Qsfllueieena

CCSE2-2AT/2025 4
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6. Qeupgdl, alind, euell @l Quimersamans s> CEme
(A). &flpe
(B) Qeuan
C) ofgad
D) eumd
(E) e Qsfluaicoena

7. AOflsg aupss :

“Geuemrenenio” erevgnith Gamraeers NNGg er(psis.

(A) Geuewrer + enio

(B) Geueir + yerenio
(C) Geuair + petranio

(D) Geudr + meiranio

(E) el Gzflweicdene

8. Gaigg er(gls :
“oig + éldﬂgj” erargid Qemdanas Gsiigg er(LHgIs.
A) oigieua (B) <igienm
(©C) Paremmi ‘ (D) <sigmemm
(E) e Gzflwefdene

9. Gsligg (95 :

o 6T + LD

(A) 2 émpenid _ (B) 2 amwand
(C) e émpenbd ‘ (D) ebwarbd

(E) e Qsflueiiceney

CCSE2-2AT/2025 5 v
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10. ampm Cggl?, wngl?, aengb dempaer sUHF QerhaermELb.

SwTLD Coe, wm aap  SLOLWSMS  DigliLeLwnss O\ & megir (h)
Qsmpaer sienLopg ererar.

Q)  spp &f; smawDd gsugj
B) spm of; smyerd &

C)  saip &6UM) ; SmyenTLd o
D) spm geuy; srrems aug
(E) el Ogfweldana

11. Qurmsss :
- Qerpheer Qassamib
(@) <ig, pru Sisoflevanr LienenLo

(b) e, eeuisdr 2 widlevemtls Quisirme Q(HELD

(©) <@, priser Sleodlen ey RGDID

(d) smes

B - I

2 WiglenemTil Lisenio

@ ® (© (@

A)- 3 4 1 2

B) 3 1 2 4

C) 2 3 4 1

D) 4 2 3 1

(E) ofen QsMwefereney
CCSEZ2-2AT/2025 : 6
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12. edinulepews sfl Qs :

auaTarent Simallu cuflseamer e 1A g @S wafgCHWID DB,

(A)  euereremt  ymefw aflsamer sl L5 udamd waflsGpub
LDE)(HLD.

(B)  adraremmaiu aifsmars s 9y ég P (pSlarmed eflgGHuD @B

C) aereremi é{@dﬂu_l e dsanend sl 58l @(pdlanmed weflgGHuwb
LO@(THLD.

(D), auerereonit el mg@asmmas sl Guss @updenme masﬂg,@;_r,wm'
LOQ(HLD. -

(E) e Osfueiideae

13. Yepwupp Asmers Csits : -

(A) « siewésir LsACLUHNEe 6T LTTTL(HS6T Gelbsar. QgTam & uflar
QunpLsamens G6lssar. |

(B) oievwési ugalGupmeyL e urrurn_@asm @aﬂggmrr Qgmesr_iiger LiflaL
QunpLsaners @edsser. ‘

(C) siewésit LgelGLHDay@r LIMFTLB&6r Gelssant. Qpram_iser Lflel
QurpLsmaTs Gelbgen.

(D) wiewsst useGuppaer LTyrL (&6 Gelngart. Qsram s LflsL
QurLsmars Gelbgent.

(E) e&fleni Qg,rﬂujaﬁﬂebmw

14. CGuompg umiggme mnqeﬁ]@m é;iafﬂ&&m weir. ereren  GFnFTd GumhHieu
eAmppdert?

(A)  aupGaupseil@epawiranme

(B) @alwQumf Gussildmauirerme
(C) spEQempadr Guslerme

D). s HABs Gtr_srrésaﬂem;sb

(E) efe Ggflwedeame

CCSE2-2AT/2025 7 | Y,
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15. o Qe smiiprgfen aumpéans eurardm Hredler G@uwir
(A) wereurabd
B) sw sfigw
C) aan sflgLb
D) aer sz
E) oo @g,mmmm;)

16.

17.

QU@@ﬂg,QlyaﬁnUm) BLSSLILLTE @samips Qzfley Qauss

(A)
(B)
(©
D)

E)

BET AT T
BODEAL G
CaeLisgen
L0 Blaid

el QsMweldana |

“sanell” e Qerdmas GHasns G]éncbanmﬁ; Csits.

(A)
(B)
(€)
(D)
(E)

@G fwetr
QBB
L)
&(ThHLDL

eflen GzMweldana

CCSE2-2AT/2025 8
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a o _ .
sTh&sLLLL  usHlmHg — CalslulL NamssEps@s  shwner
e emws CsrpOgE :

Cppeopts Cured Gery Goma, @dry Curd praer Go@a erandp Hudeows
SPBS BT@sL SHAD s LmuD emAPAUIWS BT Serayd @evarGumymél
udes  QOsmuEdComb. Ups Comas@EnssTen siflasni  HIOSED
D55CEMUE@ERESTAT  JPDETT FIOSEHD B pér LSBT el fpg
} AL sdenpar. waflgar @ sTwsaman oarahhl @L&&ngﬁuﬁm @mps @uDD

aeisflég Qeagb wyeldoe. poL R e Hib 2L HeLD Gugnid

piQpfseiidr pgeTeROLITET QDI Gramml  L(BESSIaU TEHET eSS mTiEeT.
pas Qpmrudlu sl LEHE
B mSEDG- @areniowid SHDD
rflpg eTATLOS

’ Sig LppenL. <giGurd @arewldd &
greb wpeigid Qsmy Geuedriul RS
eraLig @erenowraGal @ mss 2 5a|D s@LTs So6l 1

> @ITSHEDS-

18. o drersCHemaIs@hEaTS BLd (peT @HLILIDE GTEnaI?

(A) seed (B) eifleysmi Breser

(C)- =ip FréseT (D) sme&snL BiGET

(E) oflen Qs fwedame

19. @ereWns Q(H5S 250|D F@D T ?

(A) <ispeLL L pHél (B) uppeLuiLudhé

©) LD@‘Q'SQJQJL'DV - (D). sdel

(E) efle Qzflweiidae

CCSE2-2AT/2025 9 | V
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20.  wmsgets adlupggb LWbHsD (psa@LLITE 6rg)?
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(E) efer Qsfllueldena

<3| GUeT ™

[N SIS N
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e
ey
g7, CEme’ ETENGILD CeutsQemielen efaamumaearmyn QLTS H6mHs.

(A) Gemdamemwo (B) Qaréan
(C) Qemddllu (D) Qsmergndlenm

(E) efen Gzflweficrenay

g8, “@flurg dLWE - aaTLg aaems (uuATissmss Ghsdng ?
A) @ppssren GUuGTEsD (B) adismer QuuGErEsD
€) @fuyy Quu@yssd (D) Qsfflear QuuGTssd

(E) efer Qpfweildena

89. “ﬁ;rf)]u_l Sl B — @gG]g,nLrﬂdT TEE QUEDE SRTLDIS.
(A) @ppssrers @uuGyFsd - (B) ﬁ&gpasrrcmj QuuQrssD
C) @duyy G]LIUJGUE;&LD (D) adisrer QUuETssd

(E) ofeL Qsfludidame

90. <yudag Qardrenas SETLHS.

(A) oo | B) g6 |

©). ambsi (D) 2@

(E) ofeni @g,rﬂuaﬂei)ma)
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91 iy QFUweib.

Spsaam_aupydr saiprar @eTeDS Goft
(D) wieny @mrug srer e wdmereT o L&
2) Qe @aoergg 2 ulrHo P2
3) Di6hTL o L LiauEET SLb 2 | @D |S1,r_r)r'ré;(8§; Grem T

4) siary Gaorsar aver QUIGBED g,mé;(%as eI
A) (1) weEo

B) (2) vrEn

(C) ~(3)

D) @) o

(E)  eflen Asfluedma

92. “asin@m Cumdw efl_e” e eueT@nault arganand @GOG darmmi o

Q) siemdlend eerer BMib

B) Aear Lews Qmeﬁfﬂgaﬁmq& GTESLD
©) pOfow spg o a@m_rEn Qedeib
D) wrayub GoLunb ofiss QEU_IGI)
(E) efler Qsflueioma

93. daergreny SNNEGW Gared erg o
(&) Bs&E ey gleTLLh
B) GQhssear S@ETLLD p1
(©)  prum dyeo
D) Epp8ir pey
(E) eflani QM waléreng
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(@) 1949 sy e SORETE m warGL ey LTLeme apdd HerriuL L
urerdfwrrerms,

(i) GCus srelun ey grysans sndgdu SEnass g AUHT.
(iii) @eurt sefluns: ererguidy Ay QuuTTgIb SleRsEILGADTH.

() (i) wppd (i) we G

B) (i) wrEon

(C) @ wppd (i) we G

D) () wpgud (i) wr G

(E) senL Qzflwedcdrena

95. Cﬁm@‘r_r,rre’;eﬂmrrﬁ sHOPES Gwrfsemens a;a‘umﬁas :
A) s, rdaow, oG, N6rEs
(B) . gflp, ymdown, @pd. HGrésd
(C) s, yrde, 2B, Samid
D) s, gmda, oG, Lo LTETLD

(E) e Qgfluahldane
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urn over




Ad da E] GETIT ON
:

96.

97.

Google Pl

Qﬁ”@]@@l'_ué Qarpseners QUIBHSHE *
(@) Nautical mile 1. ward AsrHa@®r

(b) Natric horizon Qg eflen glmamsGamer

2
(¢) Narbonnaise 3. 185218
4

(d) Nalad Wenyp L{WHSTHH
@ o ©

@ 3 1 4 2

®,3 4 1 3

€ 4 3 2 1

D) 4 1 2 3

(E) e Qsfueiamma

SESTEID sFAsTHaEmard) Gumpsgs :

(a) Nanotechnology 1. aﬁ]mnmr‘r}v

(b) Biotechnology 2. efarQasefs QAzmemL L ¢
(c) Spacetechnology 3. =i Qamflém Lib \

(d) Intellectual 4

Sy Qpmfonc un o
@ (b © (@ -
A. 4 -3 2 1
B 3 2 1
€ 4 2 1
M) 1 2 4
(E) oo Qsfuaidme

w W
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| Google Play
’ 98. o g CSTLTEEhEE ghp sfwrer Quirmaar AUTHSSHIS

(a) <pSTREET L slguig Cure 1. Gurd

(b) dHle seorss el Gure 2. s 2ifig
(© &y Geop seim g Cure 3. Lwanhp QEwD
(d) eemefpp yst Cure 4. o (maunsng SLLD

@ ® @© @
@-4 3 2 1
® 4 1 3 2
© 3 1 4 2

D) 3 4 2 1
(E) e Qpfwaileana

99. “BiGue asgIIGUTR” T o auaning@srflar sfwrar AurGoars Cairs :
(A) @Quaered |
(B) HevasgdreLn
(C) o mdsganero
D) - feowpp s

(E) ofen Gg’,lﬂméﬁld)ma)
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-
00. Yetrauid L@om e a6

Google Pl
oogie Fia
b sfluraraip@ps GDTEE —

‘o QalLnpaEh aGl sH&SML, @embLidrenar

SML&@ LW et CL s{H&sml”.

(a) QuinpQuomy Ceuermamrenio FnihSl-

(b)

()
@
@
®
(©
D)

(E)

o Qe araLgl eEsdee QaraT_cuis@ar GDsSng.

_és@ésa;rrd_l Lnevéélés&gués@ Spps WHH-

Gerenar Quphp sTUSEGLD LweTLRLD.

(b), (¢), (d) - &fl
(@), (b), () - &f
S@aBgID &

DADGFILD HouD)

aflen Qg Nweldrane

CCSE2-2AT/2025
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uES-<b ~ Gung eiflay wppb LEH-G - Sparle

DODID WenSEEamTSE, FiaTarTdey

Part-B - Geheral Studies and Part-C - Aptitude and
Mental Ability

SemsSeT 1’01—_200 , G]Lorr§§ mﬁﬂ@ua{a&;qﬁ : 150
Questions :101-200 Total Marks : 150

101. Match the following and choose the correct option :

(a) Chloroform 1. CCls NO;
(b) Phosgene 9. ClCsH~S-C2H4Cl
(c) Tear gas 3. CHCIs
(d) Mustard gas 4. COCl:

@ ® © @
A 3 4 2 1
B) 1 4 3 2
() 3 4 1 2
(D) 4 . 1 2
(E) Answer not known
&G Qa;n@é;a;uuL'_@dTmanj)mg) sflunsl Qurmsd GSHUIESET epeLd Fflwiresr
Ao anans Coira) GFUS :

7L - CCl3 NOg

(a) @&GernGyrumid I
(b; fmggm 9. ClCsH+~S-CzH4Cl
(c) seranfil Lod 3. CHClsv
d) s vy 4. COCI

@ ® © O
4) 3 4 2 1
B) 1 4 3 2
(C) 3 4 1 2
(D) 4 3 1 2
(E) efler Gpflwaiidema

43 v
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‘ ' 101 i dia.
() Indo-Aryans are the last immigirants into In

(ii) This group was the next to come to India after the Negritos.

(iii) This group have come into India between 2000 and 1500 BC.

A) @only

(B) (i) and (iii) only
(C) () and (i) only -
(D) (ii) and (i) oniy

(E) Answer not known

priigéan Ghigs Haraimn ampgpseie o arewwrer sabmi org 2

@) @5Csr wfutsd Qrduraie s furs g Cudlue s,

(i) ApsfCLrsEnss Ane @Mmm@s@ UbS G QABEs G5,

(1) Qksé GW I2000 wpmid 1500 BC & Qe e Qruneine cupsar.
A) (@) v |

B) () wogitd (1ii) wr G

(©) () wpp (i) v ud

(D) (1) wpmo ({ii) wr o

(B) oL Osfueleame

CCSE2-2AT/2025 “
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103. Which of the statement(s) is/are correct?

() Satakarni was First Satavahana King and not the powerful
Satavahana ruler.

(i) His achievements are not described in the Managhat
inscription.

(iii) His name was inscribed on one of the gateways of Sanchi
stupa and referred to as “Lord of Dakshinpatha”.

(A) (i) only
(B) (i) and (iii) only
(©) (@) only

(D) () and (ii) only
(E) Answer not known

ECy QarpéslnrL . /sodmisefld ag)/ ey sRlLITaTErEU ?

(i) sssienl sTgeuTEET perarisaie) (PSS ATET HHID PSD §&8 MBS
FTSEUTEHEN <l FILITETIT Sjea.

(i) QB FTSDEEET OGS s0Qeulige GALAL L aflema.

(iii) smgsd  cogmiufer popandoss gl  erg  Quwd
QuildsruLGdrerg  LHHID ‘s Hemungdder  Gepeuen”  ererm
GO ILBEDS-

(A) (i) wlHw

(B) (i) wpmud (iil) LG

(C) (1) wrEwb

(D) (1) womd (i1) wWEED

(E) el Qzflweiidere

CCSE2-2AT/2025 45 vV
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104. Which ong the following statement(s) isfare true about Indjan
. 1ICh am
National Congress? |
(1) The Father of Indian National Congress is A.O. Hume,
() The first President of Indian National Congregs Wag
S.N. Banerjee.

(iii) S.N. Banerjee founded Indian National Liberation Federation
(A) () only

B) @) and (iii) only
(©) (i) and (i) only

D) (i) and (iii) only
(E)  Answer not known

lﬁ]d!TGU@QJ&TQJﬁ)Q]G?T QB Coflug g
FoDRs®S Coirey Qs -

(1)
(i)
(i)

&l e

A @) wren

B) () wigo (111) o Gy
© @) wpgs (i) L Rib
M) (Gi) OOIB (ifi) i gy
(E) o Qpfiuioicyeng,

CCSE2-2AT/2025 i
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105. Incorporat}on of Fundamental Duties to the Constitution of India

was done by

(A) 420 Constitutional Amendment Act 1976

| (B) 43 Constitutional Amendment Act 1977
(C) 44t Constitutional Amendment Act 1978

| (D) 45t Const’itutionallAmendmen‘t Act 1980

(E) Answer not known

@5 51:_L_§§1®§,5§5§1dn P SLUSLE  SL@LSTTENS QpHwu

rgewLded GeréalLLLgl.

A) 42-aug auﬂ@mmmqu Hmssd 1976
(B) 43-aug Sirfluaeoiyd Sssb 1977
(C) 44-aig srdluaoLlilg Q@ggm 1978 |
(D) 45-aug guﬂmmmmqu Hmssn 1980

(E) oferL Qgflwiciichenad

CCSE2-2AT/2025 47 V
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- -
06. Which of the following are true about Tamil Nadu Panchaygts
Act, 19947 '

(1) Chapter II of this Act deals with Gram Sabha.

(11) Chapter VII deals with Taxation and Finance.
(1) Chapter XII deals with Penaltiés.

(A) () only

(B) (1) and (ii1) only

(C) (@) and (ii) only

(D) (1) and (iii) only

(E) Answer not known

Epssar SODHTE LIEHEMUSSISET s Lib, 1994 Ggr_furereupbmer sflwirers

GTEaU ?

(i) @&sLsen @ et mib SHwmwuid Syro senu Qg,rn_r‘rurrmgj L.
(1) @ser gpmbd sHurubd el a0y wHmb H ‘Q‘&)FI'L_T'TLJH&TQ] DGLD.
(i) @sen Lenafijan es SEHLTLID SILTTSLET Qsm fuTeE SxED.
(A) (1) wi@Ew

(B) (i) wpmiw (iii) wr@o

(C) (1) wopmd (11) wC Ew

(D) (1) wHmd (A1) L b

(E) &leor GsfMualdama

CCSE2-2AT/2025 48 . vV
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107. orrectly paired : '

Commission Year of Establishment

(1) NHRC _ 1993
(@) Central Information Commission - 2005

(8) Central Vigilance Commission — 1963

4) . Central Bureau of Investigation — 1969

(A) (2) and (3) only |

(B) (1) and (2) only

(C) (3) and (4) only

(D) (2) and (4) only

(E) Answer not known

saiprer Qeemeu sem@i .

HpETUILD/ SiED DU m = gHuESSUILLL e[

(1) Gsflu wafls o Mewsar yevamud  — 1993

(2) wHHL BHAD JpEERTILD - 2005

() wadws samsmantliy peeTULD - 1963

(4)  wsus yeamie) S@oiy 1969

(A)  (2) wpgid (3) LGB

B) (1) wpgd (2) wED

©)  (3) wpgid (4) LG

D)  (2) wpgid (4) LG

(E) e Osfwelideme

CCSE2-2AT/2025 9 \%
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d April 29 to May o to Mark Birt

108. Tamil Nadu Government celebrate
anniversary of
(A) Pavendar Bharathidasan
(B) Perunthalaivar Kamarajar
(C) Pasumpon Muthu Ramalinganar
(D) Peraringar Anna
(E) Answer not known
5005 <re GIUU@ 29 (50(561)‘(81.0 5 <yib CSg,Q eUaDT Beu(menL_w Gobs Bre
Qa;rrafurunq_u_lg,] | |
(A) unGeupsit Lmydgnaar
(B) Oumbs@a asrr‘LDUIrr%r'r
© R LN O TP E—

D) 6L TONGST oyaimemr

(E) eflenL_ @g,lﬂuJQS]@mGD

CCSE2-2AT/2025 50
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109. Which is/are the key feature/s of the Women’s Reservation Bill
passed by the Lok Sabha on 20t Sept. 20237

() The Bill reserves 33% of all seats for women in Lok Sabha and
State Legislative Assemblies.

) It will not apply to the seats reserved for SC/ST in Lok Sabha
and State Legislatures.

(ili) Reservation to be provided for 25 years.
@(iv) To be effective after delimitétion exercise.
(A) (1) and (ii) only

(B) (i) and (iv) only

(C) (i) and (iii) only

(D) (i) and (iii) only

(E) Answer not kno§vn

QeuLwur 20, 2023 e wésaraaide HapGeuhoriLit aafl it
AL @a1680 wEanzmeildr (éslu SDShESET eTanal?

(1) @ibs wGsTET b&SEME opoid  mble FLLIDGTMRIGETE) 2 6TeT

Siansg GLrasefglb @usﬁm@é;@ 33% @g&GFDS!.

(11) Caoré sUM LHMD wIF@ &L ibaDhisefd SCIST &5 g@ssstulL
QL ksEnEE @& (UTGHSTE

(i) 25 oy@THSEHRES G- 286850 uprSILEID.

(iv) QsrEd ppaeuept LEHAGEH IDE BaL @G aI(D.
(A) (1) wpmyo (i1) LLED

(B) () womd (1v) wLEWD

(C) (i) womp (i) LB

D) (@) wpmid (ii) wLED

(E) ofer Qaflueicena

CCSE2-2AT/2025 51 v
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110. Choose the right matches :

(1) NHS _  National Health Service

(2) CBHI Central Bureau of Health Insurance
(3) PHC —  Primary Health Center

(4) NRHM — National Real Health Mission

(A4) (1) and (3) are correct

B) (1) and (2) are correct
© @ and (3) are correct
(D) (3) and (4) are correct

(E)  Answer not known

sflwmar G]urr@gg,réwsmmg Csitey Qe ;
(1) NHS

Gzl 551817 Caapey :
(2) CBHI

FEMSTTE ST Désamay WSS Lerflwuisn

(3) PHC

BIDL sgmgmy Bleveowp

(4) NRHM
@

Caélw FESTT Coeney MWD

(1) wpmw (3) sflurenang, | |
B) Q) LHmID (2) #FMurenane, ' |

©) - @) wigs (3
(D)

mﬂmrrctrraneu

| (3) wimi (4) Filunenang,

E) e Osflweleeng,
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tion [A] : Quali :
. Asser [A]l: Quality of life of people living in rural areas of

Tamil Nadu has improved

Reason [R]: The Tamil Nadu state has introduced a flagship

(B)

(©)
D)

programme called Tamilnadu Village Habitations

Improvement Scheme.

[A] 1s true and [R] is false

Both [A] and [R] are true; and [R] is the correct explanation
of [A]

[A] is false; [R] is true

Both [A] and [R] are true but [R] is not the correct explanation

of [A] is correct

(E) Answer not known
wmpm [A] : 5@@@“_‘%@1 Symotiyphisefle - aungd m“ésassrﬂdfr
UTE@®ES SILD CuoibuL(eTeTg.
smpeod [R] @ - sBRETR - SATE sUOHETH  SHymo aumpailL Guobur_ (&
HLLib erémp (PSETDIOE S Loz SN psLLBSSLeTaTS.
@) [A] & wppo [R] sep
(B) [A] wpgd [R] GramBiGL #fl wpgd [R] ererug [A] &5 sfwmar
eMer&aLd
(€) [A] saup; [R] &f | |
(D) [A] wppd [R] @ranr®GL s geme [R] eramug [A] @ eflurer
Marésid @dama gl gl '
(E) e QzRweiiome

CCSE2-2AT/2025
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112, Match the following with the schemes

(@)  Mathi Bazar L.
(b)  Pasumai Veedugal Thittam
(©)  Naan Mudalvan

(d)  Aajeevika

(a)
4 3
B) 4
€ 1
D) 4

(E)  Answer not known

(b)

1
1
3
3

—_—
o
~—

| S Q)

bO

—

(d)

DO W o

2.
3.
4.

GET IT ON
Google Play ‘

Clean energy

Skill development
Poverty Eradication

SHG

éneupeuareupeny Sieupdleir S L rkisenLen QurmsSeLD ;

(@) wd ugmni

(b) usenw eS@aer S b |

(©)  Bran Wadeuar

(d)  ogfelar
@ ()
A) 3 1
(B) 4 1
€)1 3
D) 4 3

(E)  efer Qgflucierenay

CCSE2-2AT/2025

©)

2

2
2

d

1

(d)

4
3
4
2
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L. sgsworar arflgsd
2. Awer Gubunf ¢
3. amen QUL

4. g gg,@%@@
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ich of the followj

113. Wh Ing statements are true about Micro, Small and

Medium Enterprises (MSMEs) in Tamil Nadu?

(1) Tan?ll 'I\Tadu ranks third in the country in Udyam
Registrations. '

(i) 30% of the state’s entrepreneurs are women.

@ii1) Colmbatore has the most number of MSMEs in the state.
@ Gonly '

| (B) (ii) and (iii) only

(C) (i) and (1) only

D) (i) and (iii) only

(E) Answer not known

SAPPTIR D  e6TeT  Gp.  Sp OO 5GgsT Gsmfe  Hpeserrisdr

(MSME sdr) updl eraupn sppselier ag sfluimearee?

i) esub ufaseied sWOIDLHTEH @pSurede eapampreig @LsHld 2 arerg.

(i) wrhesder 30% @gﬁ@@@@ﬁﬂ@mm‘r QuaiTsar.

(iii) Camubysgrie smer wnﬁ]w;é,\@m@u <ds en, An wHnb BHSSTS
Qgmfe Hpeuambisar o _gTemen. '

(A) (1) wi@wb |

(B) (11) wpmid (111) w HGL

©) (@) wppo (i) LGP

D) @) wpge (i) LG

(E) Qe GpMwelcere

CCSE2-2AT/2025 5 | - v
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114. Which of the following statement(s) is/are true about Khilji
building?

(1) K.S. Lal observes that with the enthronement of Alauddin
Khilji, a new era was ushered in architecture in the Hindy
Muslim style

(1) Marshall writes “Hauz-i-khas is one of the most treasureq
gems of Islamic architecture.”

(i11) “Percy Brown remarks” the entrance gateway of the mosque of

Alauddin Khilji occupies a key position in the evolution of
Islamic architecture in India.

(A) () only

(B) (1) and (ii) only

(C) () and (iii) only
(D) (i1) and (iii) only
(E) Answer not known

goglsaflar sligL b undlu Nereumn smpmsafln G@/Grémm D _GHTEMLD ?

D)  seradda fog) sfumar giluear @bs-pevelb Lime) SllgL &
sooulld  @m Uiwu ssmusb OsrimsiulLgrs  Gs.erév.  emed
saqSlomi.

1) aneyav-@-smav @avamslu &lnls soouldar lsebd QUTsSasorer
pédlaigatleh germ ererm wITaged @B H\d v,

(1) “eereyder Hofuldr  wGHuear  meowe; eumbe @pHwreed
Qevomlu sl s smaulear LRy eeriéfuler pdd QLsmsL
Qg sgieTeng eramm Quird Greyen sapmmi”.

(A) () wrED

B) () wpgid (i1) w G

(©) @) womib (111) wL_Eibd

(D) (1) womb (1i1) wrEb

(E) een Qsfweldene

CCSE2-2AT/2025 56 vV
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115. Arrange the following events in chronological order.

(1) Civil disobedience movement

(2) Sepoy Mutiny

(3) Vellore Mutiny |

(4)  South Indian Rebellion

@A 2,03, 1), @

® 1@ @6

© @,®,0), 1

D) @, (3), @), 1)
(E) Answer not known

Qénaumid Papasemars ste aflosing popuLBSSS.
(1) sl wyuy QuEsd

(2) Soumy FHOHLD

(3) Geugrit &S

(4) OganafipHucs Yyté

@ @,6. 0@

B) (1), @), 4,3
©) - @), 2,3, 1)
D) @), ), ), D
(F) efenr Qsfwcidame

CCSE2-2AT/2025 57 v
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116. Match correctly the books and the Author name :

(8) Thirukkural Uraivalam 1. Va.Se. Kulanthai Samy
(b) Thirukkural nunporul malai 2. Ki.Va. Jeganathan -
(©) Thirukkural Araichi pathippu 3. Karirathina Kavirayar
(d) Vazhum Valluvam 4. Thandapani Thesigar

@ ® © @

A) 4 3 2 1
@ 1 2 3 4
© 4 2 1 3
D) 1 3 4 2

(E) Answer not known

LS Ssmaemeni b <8l flwifer GQuweyujid sflwrsl QUTBSSGYLD

(a) Hm&Ener 2 eyeuand L. a.Qs Gyhos emb

(b) Améepear pamQummer wrewe 2. &.eur. Cleps b B ma 6o

(c) Hms@er <ymisss L 3. anflysdlens seQymur

(d) aurb eerEraLd 4. gar_unel Csdlsi
@ ® @© @

A 4 3 2 1

B) 1 2 3 4

C 4 2 1 3

™1 38 4 2

(E) &L Gsflueidvama

CCSE2-2AT/2025 58 \%
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17 Arranging the chronological order/event type. Arrange the major

pallava Kings.

1. Simhavishnu

9. Mahendravarman I

3. Narasimhavarman I

4. Rajasimha

A) 1,234
B) 3,1,2,4
€ 4,231
D) 2,413

(E) Answer not known

- 555 to 590 CE
— 590 to 630 CE
~  630t0668 CE
—  695to0 728 CE

sraaflegliLg LI LDETarTeeer aufleslupsg

1. Sibweileseas)

2. wCapdyeuiiner I
3‘. pélibauiioer 1
4, gmegdlibom

A 1,234

B) 3,1,2,4

©C) 4,2,3,1

D) 2,4,1,3

(E) ofan Qgflweiidene

CCSE2-2AT/2025

555 elmps 590 CE
590 s 630 CE
630 e 668 CE
695 e 728 CE
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118.

119.

GET IT ON
Google Play \

Who was the female poet who gave focused on heroism in the Tamj]
Society of Sangam Era as ‘Thondruvan Matho Porkalathane’?

(A) Okkur Masathiar (B) Kaval Pendu
(C) Velliveethiar (D) Avvaiyar
(E) Answer not known

shEsTR HODE supssdad  Comarpeier wrGsr CumissasstGar-  ean
cifgdin@ eAuggeid AsTHss Lmgw QUETUTED Lieeur w2

A)  @sem @n&nﬁ,{é,]mrrr’r (B) smeue Quar(h

(C) QeuerefleSSum (D) ger@auwin

(E) oL Gsfucidane |

3 men or 4 women or 12 bbys can complete a work in one day. In
how many days a man, a woman and 5 boys together can complete

that work?
(A) 1 day 4 — (B) 2 days
(C) 3days (D) 4 days

(E) Answer not known

3 yamsdT sveg 4 dudrsd sdeg 12 Apeisdr qm Caumeomu G
prefled apuliurisar eafle 1 e, 1 Quer wppid 5 Apeutasr Geaoenbs
SeuGauemaen THSMaT BILgGafled (wpigliLmiger?

(A) 1 per (B) 2 priaan

(C) 3 priser (D) 4 prser

(E)  ofler Qsfweérena
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190. Seats for Mathematics, Physics and Biology in a school are in the

ratio 5 : 7 : 8. There is a proposal to increase these seats by 40%,

50% and 75% respectively. What will be the ratio of increased seats?

(A) 2:3:4
B) 6:7:8

(C) 6:8:9
(D) None of the above

(E) Answer not known"

R LIGiTGIﬂUS]Gi)IHSGUD'ﬂ‘QSLb, @QupQue wHYID o QAW SpHu LTS @hSETEr
@ rsdr 5 : 7 8 arénp 55 DD DHSIETATS)- @bs @Lhsmar peonGU
40%, 50% wpmid 75% e wisgleigDsmer QApdlapen GupriLl Giatarg) eefld

: gmr’r{&,g,ﬂu@@ @Lmsafar eldlsnb cTeTaTalndE @ (HEGSLD ?

(A) 2:3:4
" | = &l m (5 61T

®) 6:7:8 TNPSC GS

() 6:8:9 K

(D) Guhsemr eI

(E) efen Qzflwadlcene

- -

Starts: 30 Sep, 2025
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121. The cost of 15 kg of sugar is Rs. 255, the cost of 17 kg of tea ig
Rs. 1,615 and the cost of 22 kg of rice is Rs. 572. What is the total
cost of 18 kg of sugar, 21 kg of tea and 27 kg of rice?

(A) Rs. 2,442 (B) Rs. 3,923
(C) Rs. 3,003 | (D) Rs. 2,932
(E) Answer not known

15 8.8 sidsmyuar eleoa . 255, 17 8.4 wsgrdr dleve . 1,615 wpmid
22 8.4 ofdlar e . 572 earafld 18 £.4 sisseny, 21 &.4 wsgrer
wpmid 27 £.8 S yHuapdler Quorss feaa ererer?

A) e 2,442 (B) em. 3,923

©) . @ 3,003 D) . 2,932

(E) ofer QsMwelérena '

122. The income of a person is increased by 10% and then decreased by
10%. Find the change in his income in percentage.
(A) reduced by 1% (B) increased by 1%
(C) reduced by 2% (D) increased by 2% |

(E) Answer not known

(B QUBLOTETLD 10% o wiggliuc{ o 10% Eensstiu@dps
Tafle SAaum@L aBLIASED ghub wrHy edssmss srers.

(A)y 1% sopdps (B) 1% sa(@dng
©) 2% @opdpg - (D) 2% &EHng
(E)  eler QsMuieiicrenad
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123. Ravi ranks 9th in a class of 45 students. There are 18 students below

Raj Rankwise. How many students are there between Ravi and Raj

rankwise?
@A) 27
(B) 17
(C) 18
M) 19

(E)

45 omeRTeuTEET 26TeT Q)

18 wrewreuiiser &

QubHD orareuiiaaflan Grairantiée

(&)

(B)
(€)
(D)

(E)

Answer not known

27
17

18

19

afemL Gg;rﬂwaﬂsbm@
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124. If DANGER 1is coded as 10-7-20-13-11-24, then the code of
‘MACHINE’ in the same code is
(A) 13-7-20-9-11-25-15
(B) 13-7-20-10-11-25-15
(©) 19-7-9-15-14-11-20
(D) © 19-7-9-14-15-20-11

(E) Answer not known

DANGER aang 10-7-20-13-11-24 arar @O il 4mpsme, Gs
&M g0 MACHINE eremgniib Qemedadleir @@U.S@ |

(A)  13-7-20-9-11-25-15

(B) 13.7-20-10-11-25-15

(C) 19-7-9-15-14-11-20

(D) + 19-7-9-14-15-20-11

(E)  efan Gsflweldena
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125. Carbon serves for the following purpose/purposes in living

organisms :
(1) It’s a structural component of organic molecule.
(2) Helps to bind with other molecules.

(8) Gives flexibility to the form and function of Biomolecules such

as DNA and RNA.
(A) (1) alone (B) (2) alone

(C) (3) alone (D) (1),(2) and (3)

(E) Answer not known

o Wfamsafled sriuer Spaam ahs L /Lalsmars Qe mg) 2
(1) @a sfo asmpseiar s_Leably saprs Aeuoubépg.
2) @& wop SignssEs_dr aalfld Yearniyseoar gHuBssEnsg.

(3) Qg 2w apessmmsar (DNA, RNA) a(ésésmg cugabd whmib

Qeweur_igH@ GBSpe] Sereamu jaf&lmg).
(A) (1) wrEo e (B) (2) v @ &

©  (3)wr@ o C D) (D), ©2) wogs ()

(E) efler QaMweiicvene
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126. Which of the following statements are true?
Essential properties of Magnetic Materials to be an Electromagnet.
[.  Narrow hysteresis loop
II.  High permeability
ITII. High coercivity
IV. Low retentivity

(A) I alone correct

(B) Both IT and III are correct
(C) II, III and IV are correct

(D) 1I,1II and IV are correct

(E) - Answer not known

&rﬂmrrafr FaHNIGEDETS @5#{_’5@(&,@ :

NeTsmhshEd sWUMMEs LWaLED SThe QusL s6r Gumﬁ)l@ésas Couatrig w
LI GOTL| S 6T

L @QJ&EGDFF'GGT a;r@g,gg,msa{a;m@ﬂ
git ﬁ@ LBCIGRIE ey

II1. N anbs béGsHnen

IV. @op sésmarip Sper

A) TweEo s

B) II wpmw IIT &

(C) 1L II wpmyw IV &

D) L II wogud IV &

(E) &eor Qsflweldama
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127. Consider the statements about the soil and choose the right answer :

(1) The soils of northern plains are largely deposited by
Himalayan Rivers.

(2)  The presence of Iron Oxide is more in a soil popularly known
as black soil.

(3) The soil derived from deccan trap is fertile and has high
moisture holding capacity.

(A) (1) is true/correct
(B) (1) and (3) are correct
(C) (2) and (3) are correct

(D) (1) and (2) are correct
(E) Answer not known

weir upPHlw sapdled sfwrarapeon CoHESH :

(1) e @bdu swleaflfer wer GUHBLUTYID GOWMD  HpMISETTED
Lig WianeussLILOE DS :

(2) sy W& eTaTn Qruewrs HPLLLEDL warealld GnHbY Ws®sH
S o 6erg).

(3) ssaTawL S Bu9Bhg e HAN@GD Wwam  euaToTeT wHHD s
FTLILSSS SMEIGLD SpgienLwig).

(A) (1) wr P sfwmers

B) (1) wpp> (3) sfwrarg)
C) (2) wpmd (3) sMwrarg
D) (1) wpmd (2) sfwrersg)
(E) oL Qafucidoa

67 V
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128. oose the right matches among type :

(1)
@)
3)
4)
(4)
®)
(©)
D)
(B)

Permanent Settlement — —
Partition of Bengal —
qutwari System . -
Network of Ra.ilways —
(1) and (3) are correct

(1) and (2) are correct
(2) and (3) are correct
(8) and (4) are'correét

Answer not known

Lord Curzon
Cornwallis
Munro

Dalhousie

sAwnsl QuiEpSLaaTmss CoibdGs :

(1)
(2)
(3)
(4)
(A)
(B)

(¥)
(D)

(E)

Arpsy el HLb

curg) 19Mellener

@qu_uggjmrrrﬂ (peny

@muyLIUTag GenenTii

(1) wppid (3) &
(1) wpgid (2) &
(2) wpmid (3) &l
(3) whmb (4) &l

eflenL Ggflweildbency

CCSE2-2AT/2025 68
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129. Arrange the following in chronological order :
(1) The Indian Nationa] Army Trial
(2) Formation of Indian National Army
(3) The Royal Indian Air Force | |
(4)  C. Rajagopalachari’s Formula
@ @, @,1,0)
B) @), 1), @), 4
© ©),®, @,
O @O, @,0),®d

(E) Answer not known

sfwnar asnenmm'WQuSI-m SiEH S

1) @pduw @gaw @rrapieud Barer efamae

2) @pdu Cadw @rranaub CampmieisstLbsd
-3 Grmwe @Egm awrariuea Casmhmeidsiiubhed

(4) 8. @rrgGarure gpgeil SiL b

®w @90.00

B) @), 1), 3),®

©) (3),(2, 4,1

D) (1), (2),3), ®

(E) eflan GpMweiidene
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130. Choose the true statement(s) about the Fundamental Duties :

(1)
(2)
3)
(4)
(A)
(B)

(©)
D)

(E)

GET IT ON
Google Play

To protect the Sovereignty, Unity and Integrity of India.

To protect and improve the Natural Environment.

To preserve the rich heritage of our composite culture.

To safeguard private property.

(1) and (2) only
(2) and (3) only
(1), (2) and (3) only
(2), (3) and (4) only

Answer not known

SIS SLaLsdr updlw sflurars s pblear/sapnsmas CarnoswH :

(1)

@
3)
4)
(A4)
B)

(€)
(D)

(E)

@pdwreller  @epuinamanio,

urrg;&rrﬂugj.

LOMHMID @@mmuum'_ml_u

Qupemss Gpeme LITFETIILE WHYID CubLpsgieug.

BOpeL W LmbLflukiseamb, LieripsL L@TUTL LW LINgISmiILg).

(1) womb (2) b @w

(2) whmb (3) LDL@Lb

(1), (2) whmid (3) e Gid

(2), (3) whmib (4) wr G
elen QsMwelerene

CCSE2-2AT/2025
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131. Identify the correct order of the table of Precedence

(A) Ministers of State of the Union, Chief Ministers of States,

Speaker of the Lok Sabha,' Vice-President

(B) Vice-President, Speaker of the Lok Sabha, Chief Ministers of

States, Ministers of State of the Union

(C) Vice-President, Ministers of State of the Union, Speaker of the
Lok Sabha, Chief Ministers of States

(D) Vice-President, Speaker of the Lok Sabha, Ministers of State
of the Union, Chief Ministers of States | |

(E) Answer not known

wargfleon L euamanr  euflemsuieniiy sflurar  afles  @uhdmand

S&L_Hl&

(A) mgﬁm.@m&nmggﬁsﬁ_@@m é{mbwmm, TRl PSOMDEFTEHET,
IDGEETEE FLIMBTUEHT, Glanam sarmslugl

(B) geoan memdud, DS FUTBTLSI, Lor;ﬁﬂeu (PSDIOESTEET, LSS L
SITETEIGESET @GR DAPLOESTSET

©) goor govdu. 0L -swemhspfa Qe siwossts
IDESeTEEl FUTBTLST, LIH (PO DEETEE

D) ge pamrdugl, wéseTmal FUTBTLSHT, OGS S TFTRSSS 6 @)enanT

| c@{@mé&r’rase'ﬂ: THQ (PSQEMLDFFTEHET

(E) adlenL @g}l‘ﬂu.JG)ﬂGUGU)GO

71 \Y,
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132. Read the following passage and answer the items that follow.
Your answer to this item should be based on the passage only.

A nation or society without the participation of women cannot
achieve development. If we eliminate gender discrimination women
will deliver all the potentials. Knowledge to develop the family the
nation and the world. As former UN Secretary General Kofi Annan
has stated — Gender equality is more than a goal in itself. It is pre
condition for meeting the challenges of reducing poverty, promoting
sustainable development and building good governance.

(A) Steps to be taken to ensure Women Education
(B) Importance has to be given to reduce gender discrimination

(C) Strong measures have to be taken to stop Sexual Harassment
of Women

(D) Need for the employment Generation Programmes for Women
(E) Answer not known |

spssar_  ugdllemer andlsg, GeeGauaaupineg e welssayib.
2 h&dr el QUuEdew 2giumLwunss QstanCL mww CeumEILb.

Quarmseaflar  Lmseliy  @derod @wm BIELT Sidog @ sapsCor
parGarppd  s@Lw Wrwurg. urdler GCeupurigeear BTD SETHSTED
@Gbub, BrhH LHHID Qbs eesb awarréd D@L augharar Hnevo WwHmID
sifleflemar dudrser Geuefluu@sgieut. gsHu BrEser seuular (peTaTmer
Qurg Qewerert GCarud jdmarmer ojeuisdr uredlar swsg e TG
GM&Carenar eflajd Guerearg erand @G emermi. Cugib aupewaws
G@pss, fusg Symar aarisd wHpL Apbs EsE0s S Lawidne @s
(e flupseman erar dadlujeTermi.

(A) Quanm soeileow o2.md Qeueugpsrear BLaugdenasar GuhamereriiiL
CeuaiT(d

(B)  undler Gaumum’ yeerd @epliuigpanes Wp&Swuggeud QerHésiiu
Geuair(pLb

(C)  Quemsefler LTelwe @mugjgg,d)&e&)mg, &(H\éS SHAWITET HL Ui EME&HET
ar(hdaliuL. Ceuam(hd

(D)  Quensepéstear Geuamaeumiiiy 2 (heumd@d $L L mis@pssrear Coeaa
(E)  elevr Qpfuwieddama
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133. Consider the statements on the national co-operative development
corporation (NCDC) and choose the correct answer

(1) Itis a statutory corporation
(2) Itisan autonomous organization
(3) Now it is a public financial institution

(4) Operating undé_r the administrative control of ministry of
agriculture and farmer welfare

(A) (2) and (3) only
(B) (1) and (3) only
(C) (1) and (4) only

(D) (2) and (4) only
(E) Answer not known

Cadlu sal (Opey GbUTLH &PsD (NCDC) upflu smpmiselld sflwmer
deL_ews CaibesH&sa|b
(1) Qg @ s LLILTe &L
(2) @& @f saam §l HpeamonED
3) @y @& Cant Quig Hd fpauanons QmsSng
| (4) @z - Geuerrem wppd  desmlser  po  Si@wssdSldn
Blireurs s QLT ger S @uBiGang
(A)  (2) wpmyd (3) WG
B) (1) wpmbd (3) WD
(€) (1) wpgid (4) -G
D) (2) wppid> (4) O
(E) e Gsflwdilome

73 \Y%
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134. Match correctly the systems/ideologies with their corresponding

names :

(@) Report of Ryotwari System 1. Thanthai Periyar

(b) Panchamer Schools as 2. Thomas lemro and

| Adidravida Schools Francis Ellis

() Leader fought against - 3. John Rawls
Patriarchal Chauvinism |

(d) Theory of Justice 4. Ayothidasar and

Singaravelar

@ b @ (@
A 2 4 3
B) 2 3 1
) 2 1 4
D) 2 4 1
(E) Answer not known

W W =

1Y ebreu (HLD gf,]t'_l_rsjesﬁ LHmILD ‘85@‘5')@]8566)% g Gsriyerw QuuiisEsLar
FHlwrs QUTBHSSS : | ‘

(@) rwseurf S ofésms 1. sBews Quilwmi ¢
(b) ugpent Ldtelsmer Adrrelr 2. Bmoe erGoT WwHyb
- ueraflsdr arar Si@piiLg Liprendlev eredla y
() yamdés Cuiaraitssams ' 1 anTehT Urre'ueh)&
TlTEE seaneeuir ‘
(d) $ds Camunp g 4. SCurdsrst wHmibd

SrusrrGeuenit Y

@ G (© (@
A) 2 4 3
(B) 2 3 1
C) 2 1 4
M 2 4 1
(E) e Qsfweidame

W W s =

CCSE2-2AT/2025 4 V
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135. The initative to eliminate open defecation in India and improve solid
waste management through the ‘Swachh Bharat mission’, leads to
(A) Decline in poverty rates
(B) Improve employment opportunities
- (C) Improve public health and foster a culture of cleanliness

(D) Inadequate infrastructure

(E) Answer not known

@(r_r;ﬁu_lrraﬁleu SppsCeell Lo sHLLGS @PLLSHEDL, ‘deus uTys Wager
epd  SlLssifley Gmevnammmmm Gmmu@g,g,jmg,g)@m Guh@asmereariLiHib

pwhSlser
(A) eugnjsmm Afghsmers G@DSSD
(B) CoumaaumitiLsaer CLbUOSHS®

(C) Qug &&TETISDS Cuobubiggd wLHOID SNIMLSE FOTFFTISHS
cuaTTILg
(D) CGumgorar @& L@ @éerewo

(E) o&fer QsMweildena

CCSE2-2AT/2025 7 v
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136. Which of the following is incorrectly paired in rural-urban
migration?

(1)
@)
3)
(4)
(A)
(B)
(©)
D)
(E)

Rural to rural migration
Rural to urban migration
Urban to urban migration

Urban to rural migration -

(1) and (4)
(1) and (2) -
(2) and (3)
(3) and (4)

Answer not known

GET IT ON
Google Play

Reverse push back
Push - Pull activity
Urban turnover

Rural turnover

Qereumeuameupmier ymogdladl(mhg BETS ﬂ) LD Quum
QummEssMmSS S@TLHlE. 08 TLOPER papre

(1)
(@)
3)
(4)
(&)

B
(©)

(D)
(E)

ArmosASmpE ATTosHDE
@ Quuwiey
ArmosdemHs BETESDEG
@ Guwiey

it FE AL Jbawﬁw@
@ duwe

pET5SBhE STTosHHE
@LGuwie]
(1) wopp (4)
(1) womid (2)
(2) wpmw (3)

(3) wpmiod (4)

Aer QzNweleana

CCSE2-2AT/2025 76
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137. Assertion [A] : Migration is the movement of people across regions

and territories.

Reason [R]:  Migration can be external or international.

(A)  [A] is true but [R] is false
(B) [A]is false and [R] is true
(©) Both [A] and [R] are true

(D) Both [A] and [R] are false

(E) Answer not known

spm [A] : @@@Qmm aorug  GrmpSusdr oHOID
G @sse GaGu waser @L_Lb@gmg@ 2y GLD.

smyemd [R]: @Lu@uuie) QasfliLporaGean wides siaGssrsGan

@ mEsD. | |

(A) smpp [A] &l armed smyed [R] seum

(B) ah,lj’)gj [A] seup HDD STTEID [R] &l

(C) ampm [A] b LD.;DQJvaasrrmmm [R] b &

D) spg [A] b QD STTED [R] b geup

(B) ofler Gpfluaio@e

77 \Y
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138. Which of the following are correctly paired?

(1)
@)
3)
(4)
(5)

Kurinji
Mullai

Marudam

Neydal
Palai

@) (1), 2), (3), @), (5)
B) @),3), @

€) (3), 4, (5)
D) @), @), 6)

(E)/ Answer not known

Parrot
Wild-cock
Lark

Owl

Pigeon

e (meuareuhmiedr erene s QummbSwemere ?

1)
2)
3)
(4)
(5)

(A)
(B)
©)
D)
(E)

@&l@pél
(pedene
LO(HSLD

QmuIgED

LITeneD

(1), ), (3), (@), (5)
2), (3), (4)
(3), (4), (5)
(1), @), (5)
eflen Qg fMweldana

CCSEZ2-2AT/2025

Fefl

&M (H& Camf
@JFFG'OTLbl_IIqu_
BH®S
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139. Read the following assertion and reason and select the correct
answer from the code given below.
Assertion [A] : In 1801 the British attacked Sivagangai with a

powerful army.

Reason [R]:  In 1801 the Marudhu brother Chinna Marudhu
gave asylum to Oomaidurai.

(A) [A] 1s true but [R] is false

(B) [A] is false but [R] is true

(C) Both [A] and [R] are true and [R] is the correct explanation
of [A] |

(D) Both [A] and [R] are true but [R] is not a correct explanation
of [A]

(E) Answer not known

Geraumid sy wLHMD STFEEMs  Ugsg, G CdsrOEsLLC Hdrer
GO g mhg sllurar sl mwus Caiblls 0 ssab.

sapm [A] : 1801  yawrged, PpuHCowrsdr @f FEHaumibs
LenLu|L e Heushiamsamsd sredlert.

SITERTLD [R] : 1801w <9}, 60T g 6D LO(H&) &Ga&ngqfr Sedrer LD(H&)
2aIEHOGIMTEHE LSS CETHSST.

(A)  sapg [A] #fl e syeRTd [R] seum

(B) sapmy [A] seumy pemmdd smyammid [R] &M

(C)  sapm [A] wigid srpend [R] @ran@u sfl wppw smerd [R] eerg
smmm [A] @er sflunar aflendsib

(D)  sapmy [Al wog smand [R] @rane sfl wemd smern (R

GTaTLIg) SndHm |A] @én sflwner eflerésd e

(E) oflenL Gsflweildvenc

79 V
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140. Thirukkural is a compilation of the sublime, pure human thoughts

according to M. Ariel — Based on this saying who has referred the
Thirukkural as the Tamil’s sacred book
(A) - Mahatma Gandhi

(B) Arignar Anna
(C) M. Varatharajan
(D) G.U. Pope

(E) Answer not known

‘o aragLomar, g,ﬁu'_uas)l.ou_lrrarr waflgs Q@gmmuﬁ]m QsreHCu HmsGper -
eragbd erb. ghlwellen smbms SjgQumd Smé@naear ‘st Caugh aars
@GOG Lur |

(A) wserswr STHA WG EET

(B) <ibl@pi oiamenm

(C) . auggyrgen

D) &.y. Cum

(E) e&len QsAwelcrenen
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141. To arrange Valluvar’s statement about Sageness

(1)  Modesty

@ Truth

3) Love

(4) Obligation

(5) Complaisance

&) @, 3),@),6), 1)

B) (), 4),©3), @), @)

© @), @), 0), @, )

D) @), @), 4, (), @
(E) Answer not known

;ne&rgjne&mmmuﬁl&r Qasseamd GHssl @m@m &@mmmﬁ)mgj BroUGsHS.
(1)  mrewrid | |

(2)  aumien

(3) ey

@)  guyrey

(5) sawGamrm LD .

@) (@, @, 6.0

®) (5), @, ), Q)

© (1),(@),®), 4O

D) (3), (1), @), 5), ()
(E) efen Qgrﬂmaﬂebmsv

81 Vv
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142. “Iruppu Mugam Seriththa Aenthelil Maruppin” — Identify the figure

of speech used in the above line
(A) Simile

(B) Metaphor
(C) Personification

(D) Irony

_ (E) Answer not known

“@muy s Qshlss gp@sfler wmuGer @rium o Luenm ebgerer

<> awil

(A) ;mm'amﬂ

B) e@es anf

©)  spEfICLHY e
(D)  Gapgienio sicef

(E) oo Gaflwailcrene
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143. A, B and C can separately do a work in 12, 15 and 20 days

respectively. They started to work together but C left after 2 days.
Then A and B will finish the remaining work in days.

A 4 (B) 5
(C) 6 (D) 15
(E) Answer not known

A, B vppid C 480wt safigsaiuns g Camaau @mm@u 12 pmser,
15 priser wpmd 20 prisele Qeudepert. @uiGung et CUEBLD
odCumamu  ENTs Qs  FanGHeTpart.  HeETTe C @uer(
prsafled Caumaenw il pel@Hnr eafle, A-b, B-b Bsparer Geuamaens
_ prisefléd gpgliuf. '

&) 4 (B) 5

(C) 6 D) 15 -

(E) e Qsfwedeame '

144. A square park is surrounded by a path of uniform width 2 metre all
around it. The area of the path is 288 sq. metres. Find the perimeter

of the park
(A) 124 m (B) 144 m
(C) 100 m (D) 136 m

(E) Answer not known

R F5IT augellrer  LBSTaITES), opar Smardgl Lssnsaflgid 2 LB
@gpeter @Gy oyareflmar LTSS GRuul (leTang. Sibsu umenguller

uptiueTe| 288 &.18 crafled bsL! Ly medlen GHpeTellaans Gras.

(A) 1248 (B). 144 8
(C) 1008 (D) 136 15
(E) oo Qaflweileama
83 A%
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145. A man spends Rs. 500 in buying 12 tables and chairs. The cost of one

146.

table is Rs. 50 and that of one chair is Rs. 40. What is the ratio of
the numbers of the chairs and tables purchased?

A 5:1 (B) 2:10

) 10:5 | D) 9:3

(E) Answer not known

e® waflst @m. 500 &g, 12 Guoemsser LHMID BrosMEE TGS G
Cuensuier ellened em. 50, em prosredluiar ellea m. 40 &g urkGdpri
cafldr e eummudlu prosted wHmd Cuoasler oo fssmss

ST,

‘(A) 5:1 ' (B) 2:10

(C) 10:5 (D) 9:3
(E) ofleni Qs flwellerensay

If LCM of ‘@’ and “a +2” is 1300. Find the LCM of “a” and q +1.
(A) 1350 (B) 2600
(C) 2550 (D) 2700

(E)- Answer not known

a wipw a+2 Qepdler B.C0urwLme 1300 aailed a wHmn a+1
@eupler L5.Qum.OLkiE sTams.

(A) 1350 (B) 2600

(C) 2550 (D) 2700

E) Ao Asfucdoma |
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4 ‘
1682 and 0210 phen €20
b b c 16 2ia =

@) - 7

1 .

T ® 3

3 9%

© 7 o2

(E)  Answer not known

1 .

A - B) —

7 ( T

3 5

0 2 25

(©) 3 ®) -

(E) SanL Qs fweildend

148, The number 311 311 311 311 311 311 31118 e
(A) neither divisible by 3 nor by 11
(B) divisible by 11 but not by 3
(C) divisible by 3 but not by 11
(D) divisible by both 3 and 11
(E) Answer not known

311 311 311 311 311 311 311 erémp eredr peng! - .

Y 3 oeuid SHGerd eIGULTE 11-prgud BHudend elGULTS
(B) 11 gy BHGenh aGHED spanmed 3 g BHudendl euGULTS
(C) 3=e BHuSeimd] a@GUOLD LT 11-gye BHulandl au@uLTSl
(D) 3 wpywd 11 o BHGenDl auGLEID
(E) efla Qaflweldame '

85 V
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149. In a dice if 1 is opposite to 4 and 2 1s opposite to 5, then

(A) 31isadjacent to 4 and 6
(B) 3is adjacent to 5 and 6
(C) 2is adjacent to 3 and 6
(D) 1isadjacent to 4 and 6

(E) Answer not known

R ga;am_usne'u 15 erg,lcsq 4 ppmid 25@ Gy & o drarg erafle
(A) 3 =yarg 4 vHmb 658 <AHCS 2 derg)
(B) 3 ez 5 wimb 65@ <mCs 2 drerg
(C? 2 garg 3 LD,F_T)@lLb 655 <i(mGs 2 drarg
D) 1 %m@ 4 wpmid B, SIHCs 2 drerg

(E)  efen_ Qsflweerene
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150. Modern man originated in which period and epoch of Geological

Time scale :
Period - Epoch
(1) Tertiafy —  Paleocene
(1) Tertiary - Pliocene
(1) Tertiary - 'Oligocene
(iv) Tertiary '~ Miocene
(A) () is correct (B) (ii) is correct
(C) (iii) is correct (D) (i) is correct

(E) Answer not known

yedWwe st @il Lamendd pelar wafllger @hs LHeuLD wHmd  Sp-

sngdler Camendlerme :

uged  — épsmen
() Quieful - CLieGuLirar
() Quiefiufl — @efGurdar
(i) Quiehufl — =Gsréar
(v) GLie§ufl — awGuréd
(A) .(i) gRlwmaTanay (B) (i1) sflwneneneu
©) (i) sAurareas D) (i) sfurarea

(E) efaL Gsfucdoma

87 : \Y,
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151. Which of the following statements are correct in the context of

carbon monoxide emissions?

(1) Its mainly due to incomplete combustion of fuel.
(2) They are more evident in petrol engine.

(3) Long term exposure can cause nausea.

(A) (1) and (2) only

(B) (2) and (3) only

©) (), (2)and (3)

(D) (1) and (3)

(E) Answer not known

sriuer Guraméma® 2 Bpajsments LDD EDSSTEUD ThEs sappiser o 7
(1) &rﬁmg aTil&EsTs Grfﬂ@urr@mrrs'ﬁ QUTEEnIG I,

(2)  QuLGrmed erfl@umgper mﬁa;mrﬁja;mneb QU (THEU.

(3) Saw Cpr o flpeflenmed @wL L6 GFHLBSSID.

A) (1) womibd (2) wr G

B)  (2) wpmid (3) LLEW

©€) 1), (2) wpgd (3)

D) 1) eppiw (3)

(E) ofler Qsfwefdrena
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152. Choose the right statement(s) about Malwa Plateau :

1)

2)

3

Gy

(B)
(€)
(D)
(E)

It has an average altitude of 600 m and slopes towards the
east.

The plateau region is mostly drained by chambal and its
tributary rivers.

The Malwa plateau is located in Rajastan, Gujarat and
Madhya Pradesh. |

(1) is correct

(1) and (3) are correct
(2) and (3) are correct
(1) and (23 are correct

Answer not known

wreeur LS upflu sfurer sapbleer/sappsmans Gsirey Wels :

1)
2)

3)

(4)
(B)
(©)
D)
(E)

CCSE2-2AT/2025

symefums 600 BLLT 2 urgiler Sip&e Crrad #rﬂ(r_‘r;g,lmq@.

LBl GLbLTETET ,g@lé,]asaﬂd)"&mud)- DHDID ST SleveRT

| MEET LTUSETDS)-

ordanr SLud  grgevsten, GRS wHpd  wiSlu  GrGsssH
S ®LDHGICTATG)-

(1) wLEb sflures
(1) wpmid (3) &rﬂquraTd)aJ
(2) wpgid (3) sflurar@a
(1) whmib (2) sflwrarene
e Qsflweilcdrene
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153.

164.

Reason and Assertion :

Assertion [A] : Besides being a political Leader, Gopal Krishng
Gokhale was a great Social Reformer.

Reason [R] : He was one of the founders of the distinguished
organisation known as “The Servants of Indig
Society”. |

(A) [A] is true but [R] is false (B) [A] is false but [R] is true

(C) Both [A] and [R] are true (D) Both [A] and [R] are false

(E) Answer not known
SMyeRTd WHEILb ah_‘[_\")gj

spm [A] ; SITHwe gameeul crszrrum%g gelly, Camume eﬂ@@qucm
GarsGo b Spps Fepss i maseund).
amjemrd [R] @am QL sepsusdear  Csausiser  erangyib

afgserenln eumiipg sienwlienu Hlmiedweur.
A)  smpp [A] & c%mrrs’o sryerd [R] seug
(B)  smppi [A] seugy wpanméd smyampd [R] &
(C) @rem@w smpy [A] wppib sryerd [R] &M
D)  @rawm@d> smppi [A] wpgid smyemd [R] geug
(B) e Qgflueldame

Arrange the events in chronological order

- (1) Communal Award

(2) Gandhi Irwin Pact
(3) Chittagong outburst
(4) Poona Pact

@) (1),@),3), @ y - (B) (2), (3), 4), (1)
© 3, 0@ (D) @), 3), @), (1)
(E) Answer not known '
Gereu@d Hlapeysamer sreeflangliLig a|®a;@a;

(1) agouanss Sioy
(2) smpd - @icllen 2L 6Ly sans

(3) ALsmms Qeugliy

(4) yerm @uLBSLD

Aa) (1),2),©3),® B) (2), (3), (4), (1)

©€) 3), @), 1), 4 D) 4, (3), (), (1)
(E) &fenr Qaflweicrenay
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155. Consider the following pairs :
" Famous Place Region
(1) Bodhgaya ~  _  Baghelkhand
(2) Khajuraho  _ Bundelkhand
(3 Shirdi _  Vidarbha
(4) Nasik - —  Malwa
(5) Tirupathi - - Rayalaseema
Which of the pairs given above are correctly matched?
A @, (2) and (4) only
(B) (2), (3), (4) and (5) only
(C) (2) and (5) only .
D) (1), (3), (4) and (5) only
(E) Answer not known

Spsaam_elhenns sflunsts QUImSSS :

(1)
(2)
(3)
4)
(5)

&@a;aﬁmum.mﬁ)g@e‘rr oTene &

(&)
(B)
(©)
D)
(E)

ysp@uHD GL1b uEg

LSSSWT - ua;';ba;azio‘rf_
segernGam - ua‘a‘muba;c&vrt_ :
a§iiig - edlgrum

préls = mn@@n
AU ' - @rrwe&ion

(1), (2) wpopd (4) wrEw &f
@), (3), (4) wppd (5) O &
2) wpmid (5) L-OP &

(1), (3), (4) wdD® (5) LG &
cllenL Ggﬂuaﬁlmmm

91

flurs QuTmHbsISeTnar?

GET IT ON
Google Play
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156. Identify the statement that is not correct with regard to President of
India.
(A) President can resign from his office at any time
(B) President cannot hold office beyond his term of five years

(C) President can be removed from his office by an impeachment

process
(D) No President of India has so far been impeached °
(E) Answer not known

QB Grwrss sewei Qariurear Garaumb sppEed saunrar smbanp

SDI@LWIMATD STems.

A)  orurss  seooar  usdleo  @mseb  Curg erQumpg
CougmREwanpred e Lgel elesemy

(B) gmhgran@aer sips UpEd, @qurss soear Lsedue By és
@weng

(C) @ovser @ (Impeachment) aumbenas GYWIEsS seeeual Us
B&sd GFiwed

D) Bg «@r a5 96 eyuss seeamd usd s
GevwwtiuLefldena

(E) efer QsfMwelérene
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157. Match List I with List IT and select the correct answer by using the
codes given below the Jist -

List I

. List IT
Articles -
o _ Councils
(a) Art 280 1. Inter-State Council
(b) Art 263 2. Inter-State Water Dispute Tribunal
(c) Art262 3. Goods and Services Tax Council
(d) Art279 A 4. Finance Commission

@ b® @ @
@A 4 3 2

B) 4 1 2

€ 3 4 1

D) 1 4 3

(E) Answer not known

D DN W

ECpLarhssiiul @arer uliqued I wppw II -@dé o drereupern sflumsl

QumTBSSS
U quied I ucigued IT
ETESIHET G (p&saT
(@) sLrn9fey 280 1. wrflekseEésiamudorer &w
(b) srL09fey 263 2.  wrfleonseEssda_orar pAbT saTTo
: Srlumuid
(¢) e Lind9fey 262 3. Qun@Lser wpmd Csma afls G
(d) srLmifey 279 A 4. H&EW
@ ® ©o @
A 4 3 2 1
B) 4 1 2 3
- (C) 3 4 1 2
(D) 1 4 3 2
(E) o&farL QsMweildame
93 | \Y;
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158. Match the following :

Acts Year
(a) Tamilnadu Consumer Protection Act 1. 1969
(b) Consumer Movement 2. 1988
(¢) Tamilnadu Consumer 3. 1986
Protection Rules
(d) The Monopolies and Restrictive 4. 1974
Trade Practices Act
@ O © @
@ 3 4 2 1
B) 4 3 1 2
C) 2 1 3 4
(D) 3 1 2 4
(E) Answer not known
gilwrer eflenLenw QUTHSSIS
FLU_L_MIG6T 24,607 ()
(a) sOPBEIH HETCeaumt LTFSTULE SLLLD 1. 1969
(b) msiGeurt Qusd 2. 1988
() sBlpsr@® msiCeumt urgsTiiy lglsar 3. 1986
(d) gsCurs wHmb s HUUILH ITESs 4. 1974

BEL_(PEADEET FLL LD

@@ () (@

A) 3 4 2 1
(B) 4 3 1 2
©€) 2 1 3 4
(D) 3 1 2 4

(E)  eler Ggflualicrene
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159. Arrange the following stateg with respect to the1r Niti Aayog SDG
India Index 2023-24 rankings

(1)
(2)
®3)
4)
A)
B)
©)

D)
(E)

Tamil Nadu
Uttarakhand
Kerala

Goa

1), (3), (2), (4)

@, @, @, ®)
@, ®), M, @
@0,6@

Answer not known

GET IT ON
Google Play

f8 wCursfler SDG @pdlus GASE 2023-24 grafesiy deraidd
wrflekismer afl@suudsss.

(1)
(2)
(3)
4)
(&)

(B)
©)
D)
(E)

L)

2 & THam
Gayerm

Gareur

1), 3), (2, @)

1), 2), @), B)
@), 3), 1), @
@), (1), (3), @
e OgMweiidema

95
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160. The Tamil Nadu Government implemented Kalaingar Magalir
Urimai Thogai Scheme for the Welfare of Women. Which of the
following is/are the rationale for the scheme

() Gender disparity in annual income according to the Global
Gender Gap Report 2023 |

(i) Changing the poor social status of women

(iii) Upliftment of rural women

(iv) Recognize the countless hours of silent work put in by women
(A) (i) and (iii) only

(B) (i) and (iv) only

(C) (@) and (ii) only

(D) (@) and (iv) only

(E) Answer not known

Auarseiler pogissts sllps s soeeEm wsali = faws Cgrass
dligws Osuoupssiug. UJdaemeaarapble eabs smard EBSS

S sdnarer Hluruwrer elen&sib.

D cweseameiiu urdlar @eLGaall eifisms 2023 Qer Ly gyeT(
auprargde urallar Ceumum( '

(i) Quemseflar gpewwrar Fups Haaew wIHD

(ii)) Aymoviymts QuaTseiar Gobur®

(iv) Quarsefier araramdp wealGEy siawduner 2 @plint okssssd
(A) () whgd (i1i) w Gid

(B) (i) wpgd (1v) L ED

©) @ wpgid () wLED

D) () wppd (v) 0L G

(E) efle Qfuctiome
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161. The objectives of National Agricultural Market (e-NAM) portal is to

(i Create a unified national virtual market for agricultural

commodities.

(i) Aid farmers in getting better prices.

(i) Provide marketing options to the farmers.
(A) (i) and (ii) only

(B) (i) and (iii) only

(€) () and (iii) only

(D) (D), (iD) and (iii)

(E) | AnsWer not known

- Gsélu afﬂm&rru& sieng (e-NAM) @mmru_l apaLiQar Corésid.

@)  efeusmuls AUTHLEETES, ROG POEEDTES Gaflw Qmu_lﬁlasrr

shesOL 2 HAITEGS |
(11) Apps cllemaerwiss Gu@]@gm@ eAeusmuisEnéE 2- 5B
(1i1) aﬁlmnuﬂg@g@_ shasLLOSED m@mm s
A) (i) whmp (i) w-GD |
B) (i) wppw (i) v O
(C) (i) whpb (iii) oD
D) (i), (ii) wpmw (i)
E) e Qafluaioms

97 ' v
C
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GET IT ON l
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162. The objectives of National Skill Development Council is / are

(1)  To empower women through economic independence

() To Organise Training Programmes for youths for skil]
development across the country

(i) To provide monetary awards for skill certification t, boogt
employability

(iv)  To boost the productivity of the country’s workforce
@) (@), (i) and (i) |

B) (i), (iii) and (iv)

(C) (i) and (i) only

@) () only |

(E)  Answer not known

Qg,eﬂu der Cobun' @& spagslen &HsCamer Sl g @gS]é;(SasnehssdT
(1)

Gummerngmys FSHSITD epaLons nsefi Cubur® e ws ALY

(i) mrE PWeUZID o drer @mm@r‘rasmerrg doar  Gowurf el
LAHAS &1L tisener Slaflliug

(1ii) &men Cubum @ e s,

(iv) Brigen 2 e LILITeTaef gy 2 HDUSSS Apener o
@) (@), (D) opgis (i) |
(B) (i), (iid) wpgus (iy)

HaLupsgI5

© @) wpgo (i) wege
D) @) wrEw
(E) efenc O Nwefdeng,
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g limit per individual for cashless treatment for the first
48 hours of the roadside accidents under “Nammai Kaakum-48”

scheme 1s Rs.

(&) 1.00 lakh | (B) 2.00 lakh
(C) 2.50 lakh (D) 3.00 lakh

(E) Answer not known

pewns FTEGD-48 A shar &, usy B QUDHD PSP 48 wenf]
Crrgdlh@er uamiaoonr AfFmsssrar o dFaurbl @ BUBHES -

2hSLD.
A) 1.00 s (B) 2.00 ec-&1d
(C) 2.50 s (D) 3.00 eL_swd

(E) e&fen Qsflweildvana

164. The Central Insﬁtute of Classical Tamil (CICT) is functioning in its
owh new dedicated premises from 2022 onwards in

(B) Mysore

‘(D) Perumbakkam

(A<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>